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The villagers should have a very active communal life and never remain indifferent to each
other’s affairs, and to the doings of the whole community. The carrying out of that idea will
be, at first, the task of a working-committee. That committee will give the right direction to
the educational and economical affairs of the village. A few specialists in economics,
education, agriculture, weaving and - crafts, shall have to be members of that working
committee. In exchange of a fee, proportionate to their labour the villagers would give the
products of that labour to a village-store; those products would be collected there and sold.
Each member of the farmer’s community would receive around his house, a plot of 40 to
50 acres, for all his agricultural needs : plantations breedings, cattles etc.
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(Z(Jst Sm.)-English-H/DSCC-I/CCF]

2023

ENGLISH — HONOURS
Paper : DSCC-1
[Introduction to English Literature (Poetry)]
Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Section - I
. Answer any one of the following questions within 600 words : 15x1

(a) Write a brief essay on the Elizabethan sonnet sequence, with special reference to any one major
sonneteer.

(b) Discuss the salient features of Romantic Poetry.

(c) What are the major themes of War Poetry? Discuss with reference to the poets of World War 1.

. Answer any one of the following within 200 words : , 5x1
(a) Write a short note on Metaphysical Poetry.
(b) Show your acquaintance with mock-heroic poetry.

(¢) Comment on the contribution of T. S. Eliot to Modern Poetry.

Section - II

. Answer any three of the following questioné within 600 words each : 15x3
(a) Discuss the use of imagery in Shakespeare’s Sonnet no. 73.

(b) Examine ‘The Sun Rising’ as a love poem.

(c) Attempt a critical appreciation of Keats’ ‘Ode to Autumn’.

(d) How does Yeats’ ‘The Second Coming’ use mythology to express the onset of modernity?

(e) Discuss the theme of Hughes’ ‘Crow’s Fall’.

. Answer any two of the following within 200 words each : 5%2
(a) In Shakespeare’s Sonnet no. 73, who or what is described as ‘Death’s second self’, and why?
(b) In ‘The Sun Rising’, why is the Sun called a ‘Busy old fool’?

(c) “ ... thou hast thy music too,” — What is this ‘music’?

(d) How is the ‘rough beast’ described in ‘The Second Coming’?

(e) Why did the crow decide to attack the Sun?
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(zastsm )-English-HISEC-1/CCF)

2023

ENGLISH — HONOURS
Paper : SEC-1
(Business Writing)

Full Marks : 100

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
Write a letter to a service provider in Kolkata for installation of CCTV cameras in a departmental
Store. 20
Or,

Write a letter of complaint to the Branch Manager of XYZ Bank regarding a case of unauthorised
withdrawal of money from your account. 20

2. Write a CV to be attached with a job application in response to any one of the following advertisements.

(a)

(b)

3. (a)
(b)
4. (a)
(b)

20
Job Vacancy

Medical Representatives

Required

ABC Pharma invites applications from graduates in any discipline with at least 3 years of experience
in a pharmaceutical company. Candidates must be proficient in Customer Relations management.
Apply with CV within 30th April, 2024 to Box No. 9701, XYZ Newspaper, Mumbai.

Office Assistant Needed

Applications are invited from computer literate graduates with speaking skills in English and Hindi
for the post of Office Assistant in a construction company of repute. Apply with CV within 7 days
to ABC Builders, 67/3B, High Street, Pune.

Write an e-mail to a customer confirming an order. 20
Or,
Write an e-mail to a bookseller placing an order for books. 20

Write a newspaper report on a fire accident and rescue operations in a multistoreyed residential
building. ' 20

Or,

Write a report on a recent cultural event organized by your college. 20
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5. Draft the minutes of the Students’ Council meeting based on the Notice given below : 20
NOTICE
A Students’ Council General Body Meeting shall be held on 03.08.2023
at 11:30 A.M. in the Council Room to discuss the following agenda :
(a) Confirmation of the minutes of the previous general body meeting.
(b) Matters arising out of the minutes.
(c¢) Election of class representatives.
(d) Organizing a blood donation camp on the occasion of Independence Day.

(e) Miscellaneous.

Date : 18.07.2023 Secretary
Students’ Council
ABC College
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ENGLISH — HONOURS
Paper : DSCC -2
[Introduction to English Literature (Prose)]
Full Marks : 75

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.

Section - I

1. Answer any one of the following questions within 600 words : 15x1
(a) Write an essay on Elizabethan prose with special reference to any one major writer.
(b) Discuss the rise of the eighteenth century novel with special reference to any one writer.

(c) Analyse James Joyce’s contribution to twentieth century prose.

2. Answer any one of the following within 200 words : 5x1
(a) Write a short note on Sidney’s ‘Apologie for Poetry’.
(b) Comment briefly on Joseph Addison.
(c) Write a brief note on Katherine Mansfield.

Section - I1

3. Answer any three of the following questions within 600 words each : 15x3
(a) Discuss Francis Bacon’s prose style with reference to ‘Of Studies’.
(b) Consider Lamb as an essayist with reference to ‘Dream Children : A Reverie’.
(c) Discuss the significance of the title of ‘Araby’.
(d) Examine ‘Shooting an Elephant’ as a study in post-colonialism.
(e) Would you agree with the view that the theme of grief and loss is central to ‘A Temporary
Matter’? Give reasons.
4. Answer any two of the following within 200 words each : 5%2
(a) Give two examples of Bacon’s pragmatic outlook in ‘Of Studies’.
(b) What is the significance of darkness in ‘A Temporary Matter’?
(c) Give a description of grandmother Field in ‘Dream Children’.
(d) Why was the boy disappointed on reaching the fair Araby?

(e) “I often wondered whether any of the others grasped that I had done it solely to avoid looking a
fool.” Elucidate with reference to the context.
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2024

ENGLISH — HONOURS
Paper : SEC-2
(Academic Writing)

Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Attempt a critical appreciation of any one of the following poems :

(a)

(b)

No longer mourn for me when I am dead
Than you shall hear the surly sullen bell
Give warning to the world, that I am fled

From this vile world, with vilest worms to dwell.

Nay, if you read this line, remember not
The hand that writ it; for I love you so,
That I in your sweet thoughts would be forgot,

If thinking on me then should make you woe.

O if, I say, you look upon this verse
When I perhaps compounded am with clay,
Do not so much as my poor name rehearse,

But let your love even with my life decay;

Lest the wise world should look into your moan,

And mock you with me after [ am gone.

How happy is he born and taught
That serveth not another’s will :
Whose armour is his honest thought

And simple truth his utmost skill!

Whose passions not his masters are,
Whose soul is still prepared for death,
Not tied unto the world with care

Of public fame, or private breath;

20x1

Please Turn Over
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Who envies none that chance that raise
Or vice; who never understood
How deepest wounds are given by praise;

Nor rules of state, but rules of good;

Who hath his life from rumours freed,
Whose conscience is his strong retreat;
Whose state can neither flatterers feed

3

Nor ruin make accusers great;

Who God doth late and early pray
More of His grace than gifts to lend;
And entertains the harmless day

With a well-chosen book or friend;

— This man is freed from servile bands
Of hope to rise, or fear to fall;

Lord of himself, though not of lands;
And have nothing, yet hath all.

2. Write a substance of any one of following passages and add a critical note : 12+8

(a)

(b)

The poet perhaps is the man who sees the greatness of life best, because he lives most in its beauty
and fineness. But my point is that the essayist is really a lesser kind of poet, working in simpler
and humbler materials, more in the glow of life perhaps than in the glory of it, and not finding
anything common or unclear.

The essayist is the opposite of the romancer, because his one and continuous aim is to keep
the homely materials in view; to face actual conditions, not to fly from them. We think meanly of
life if we believe that it has no sublime moments, but we think sentimentally of it if we believe that
it has nothing but sublime moments. The essayist wants to hold the balance; and if he is apt to
neglect the sublimities of life, it is because he is apt to think that they can take care of themselves;
and that if there is the joy of adventure, the thrill of the start in the fresh air of the morning, the
rapture of ardent companionship, the gladness of the arrival, yet there must be long spaces in
between, when the pilgrim jogs steadily along, and seems to come no nearer to the spire on the
horizon or the shining embanked cloudland of the West. He has nothing then but his own thoughts
to help him, unless he is alert to see what is happening in hedgerow and copse, and the work of
the essayist is to make something rich and strange of those seemingly monotonous spaces, those
lengths of level road.

We cannot conceive two men born with the same physical, mental and moral nature, at the same
moment, under precisely the same conditions, and using the same language. They would be identical
and everything they uttered would be clothed with exactly the same words. The absurdity of this
conception brings home to us an important aspect of style. Style is not merely a sign of those national
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qualities which are generic to established languages, and which constitute the so-called genius of a
race. It is also the sign of personal qualities, specific to individuals, which constitute the genius of
a man. Whatever a man utters from his heart and head is the index of his character. The more
remarkable a person is, the more strongly he is differentiated from the average of human beings,
the more salient will be the characteristic notes of his expression. But even the commonest people
have each of them, a specific style. The marks of difference of style are quite obvious in the great
literary artists as Dante and Shakespeare, but become less noticeable in the ordinary ranks of daily
life. Yet these marks exist, and are no less significant of individuality than the variations between
leaf and leaf, upon the lime-trees of an avenue.

3. Write an essay on any one of the following topics (in 1000 words) : 35x1
(a) The importance of English as an international language.
(b) The Universality of Shakespeare.
(c) Use of children in advertisements.
(d) Survival of literature in the age of social networks.

(e) The Empowerment of Women in India.
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2023

ENGLISH — MINOR
Paper : MN-1
[Introduction to English Literature (Poetry)]
Full Marks : 75

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.

Section - A

(History of English Poetry)

1. Answer any one of the following questions within 600 words : 15x1

(a) Trace the development of the Sonnet sequences in the Elizabethan Age with particular references
to any two poets.

(b) Can the English Romantic Movement be called ‘Return to Nature’? Discuss with reference to any
two major poets. '

(¢) Assess the contribution of T. S. Eliot to 20th century English poetry.

2. Write a short note on any one of the following within 200 words : 5x1
(a) Paradise Lost
(b) Lord Tennyson
(¢) W. B. Yeats.

Section - B

(The Poems)

3. Answer any three of the following questions within 600 words each : 15x3
(a) Consider Shakespeare’s ‘Sonnet 737 as a poem on time, love and death.
(b) Discuss ‘The Sun Rising’ by John Donne as a metaphysical poem.
(c) Discuss briefly Keats’ treatment of nature with reference to ‘Ode to Autumn’.
(d) Write a critical appreciatfon of W. B. Yeats’ poem ‘The Second Coming’.

(¢) Write an essay on Ted Hughes’ use of bird imagery in the poem ‘Crow’s Fall’.

Please Turn Over
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4. Answer any two of the following questions within 200 words each : 5x2

(a) Explain the line : “That time of year thou mayst in me behold / When yellow leaves, or none, or
few do hang”.

(b) What does the lover in Donne’s “The Sun Rising’ propose to eclipse and why?

(c) What does Keats say of the songs of Autumn?

(d) What future vision does the second half of the poem ‘The Second Coming’ suggest?
(e) What makes the Crow attack the Sun and with what result?



History
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HISTORY — MINOR
Paper : MN-2
(Social Formations and Cultural Patterns of the Ancient World other than India)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

Group - A

1. Answer any three of the following questions : 5%3

(@)
(®
(©)
(@
(©)
®

What do you understand by Mesolithic culture?

What is Neolithic Revolution?

Write a short note on the economy of ancient Egypt.

Discuss the role of Helots in ancient Sparta.

Briefly narrate the growth and expansion of trade and commerce in ancient Rome.

Write a short note on the Greek historian Thucydides.

Group -B

2. Answer any two questions : 10x2

(2)
(®)
©
(@

Critically analyze the main features of the Paleolithic Age.
What were the distinctive features of ancient Egyptian state system?
Discuss the historical debate on the advent of iron technology in human civilization.

Write a note on the features of ancient Roman agrarian economy.

Group - C

3. Answer any two questions : 20x2

()
(®)
©
@

Give a brief history of the evolution of mankind.
Discuss the features of Polis in ancient Greece.
Write an essay on slavery in ancient Rome.

Write on the trends of tragic drama in ancient Greece.
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HISTORY — HONOURS
Paper : SEC-2
(Understanding Cultural Heritage and Tourism)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Group - A
1. Write a report on any one : 30x1

The National festivals of India / any one festival or fair of Bengal.
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Group - B

Answer any two questions.

Write an essay on the cultural heritage of India with special reference to the historical background.

10
Explain tangible and intangible cultural heritage of India with suitable examples. 10
Discuss the role of museums in the conservation of cultural heritage. 10

Briefly explain the relation between cultural heritage and tourism. Mention any five heritage sites of
India. 5+5
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HISTORY — MDC
Paper : CC-2
(Social Formations and Cultural Patterns of the Ancient World other than India)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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1. Write notes on any three : 5%3

(@)
(®)
©
(@
(©
®

[ English Version ]

The figures in the margin indicate full marks.

Group - A

Mesolithic culture

Chief feature of the Neolithic age

Religious belief in the old Egyptian Kingdom
Significance of the advent of Iron technology
Trade and commerce in ancient Rome

The Greek comedy drama.

Group - B

2. Write the answer of any fwo questions : 102

(a)
(W)
(©)
()]

Analyze the debate on the causes of the origins of food production in the prehistoric period.
Discuss briefly about architecture of ancient Egypt.
Describe the history of slavery in ancient Rome.

Write an essay on the Spartan Constitution.

Group - C

3. Write the answer of any two questions : 20%2

(a)
(®)
©
(d)

Discuss the process of the evolution of humankind.
Analyze the main features of the Palaeolithic age.
How would you explain the development of Neolithic culture in West Asia?

What were the chief features of Greek Polis?
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HISTORY — HONOURS
Paper : SEC-1
(Museum and Archives)

Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

Group - A

1. Write a report on any museum / archive that you have recently visited. 30
Group - B

2. Answer any two questions : 10x2

(a) Briefly discuss the changes brought about by ICOM in the definition of museum between
1946-2007.

(b) Write an essay on the collection policy of museum.
(c) Discuss the exhibition policy of museum.

(d) What do you understand by an archive? Assess the role of archives in the expansion of higher
education.
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HISTORY — HONOURS
Paper : DSCC-1
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

1. Answer any three questions : 5x3

(a) Discuss the importance of the ‘Prasasti’ as a source of ancient Indian history.
(b) Write a note on ‘microlith’.

(¢) What do you know about Mehergarh culture?

Please Turn Over
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(d) Write a note on the Harappan religion.
(e) Assess the position of women in the Rig vedic society.

(f) Write a note about the main ideology of Ajivika religion.

2. Answer any three questions : 20x3
(a) Discuss the importance of archaeological sources in reconstructing the history of ancient India.
(b) Trace the evolution of early man from hunter-gatherer to food producer in Pre-historic India.
(c) Write a note on the Mesolithic Art.
(d) Discuss the main causes of the decline of the Harappan Civilisation.
(e) ‘Improvement of agriculture paved the way for Jainism and Buddhism.’— Do you agree?

(f) Discuss the geographical and economic factors behind the rise of Magadhan empire.
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HISTORY — MDC
Paper : CC-1
[History of India (From the earliest times to 300 BCE)]
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

Group - A

1. Answer any three questions : 5x3

(a)
(b)
(©
(d)
(e)
6]

Discuss the importance of foreign literature as a source of ancient Indian history.
Write a note on the Neolithic age in India.

Discuss about Harappan religion.

Analyse the Varna System of the Vedic age.

Write a short note on the Sixteen Mahajanapadas.

What were the main teachings of Gautama Buddha?

Group - B

2. Answer any two questions : 10x2

(a)
(b)
(c)
(d)

Discuss the salient features of the urban layout of the Harappan Civilization.
Mention briefly the religious life of the Rig Vedic Age.
Determine the differences between the Buddhist and the Jaina religion.

Discuss the geographical and economic factors behind the rise of the Magadhan empire.

Group - C

3. Answer any two questions : 20x2

(@)

(b)
(c)
(d)

What is the importance of the archaeological sources in reconstructing the history of ancient
India?

Discuss the causes of the downfall of the Harappan Civilization.
Analyse the Aryan problem.

Explain the social and economic background behind the rise of protestant religious movements in
India in the Sixth Century B.C.E.
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HISTORY — MINOR
Paper : MN-1
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Group - A

1. Answer any three questions : 5x3

(@)
(b)
(©)
(d
(e)
®

Write a note on the Neolithic Age in India.

Discuss the importance of foreign literature as a source of ancient Indian history.
Write briefly on the caste system in the Vedic age.

Write a short note on the sixteen Mahajanapadas.

What was the impact of Alexander’s invasion on India?

Write a note on Gandhara Art.

Group - B

2. Answer any two questions : 10x2

(a)
(b)
(©)
(d)

Discuss the importance of archaeological sources in reconstructing the history of early India.
What were the causes of the decline of the Harappan civilization?
What were the causes behind the rise of Magadhan imperialism?

Determine the fundamental differences between the Buddhist and Jain religions.

Group - C

3. Answer any two questions : 20x2

(2)
(b)
(©)

(d)

Discuss the principal features of urban culture of Harappa.
Analyse the Aryan problem.

What do you understand by Sangam literature? What light does the early Sangam Literature throw
on the culture of South India?

Analyse the causes of success of the 6th Century B.C. protestant religious movements in India.



Political Science
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POLITICAL SCIENCE — HONOURS
Paper : DSCC-2
(Constitutional Government in India)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Write three short notes of the following (each within 100 words) : 5x3
(a) Indian Independence Act, 1947

(b) Fundamental Duties as mentioned in the Constitution of India

(c) Article 356 of the Constitution of India

(d) Privileges and immunities of the members of the Indian Parliament

(e) Original jurisdiction of the Supreme Court in India.
Module - 1

Answer any one question (within 500 words) :

(a) Elucidate the main features of Indian Constitution. Are these features reflected properly in the

Preamble? Explain. 15+5
(b) Analyse the legislative relations between the Centre and the state in India. Do you think that this
relation has played an important role in Indian federal character? Argue your case. 15+5
Answer any one question (within 150 words) : 10x1

(a) Discuss briefly the Constituent Assembly debate related to the ‘Right to Religion’.

(b) State, in brief the relationship between the President and Prime Minister of India.
Module -2

Answer any one question (within 500 words) :

(a) What do you mean by Judicial Activism? Do you think that Judicial Activism plays a ‘safety valve’

role in Indian democracy? Argue your case. 5+15
(b) Discuss the 73rd Amendment Act as an instrument of empowerment for the marginalised people of
India. 20
Answer any one question (within 150 words) : 10x1

(a) Evaluate, with examples, the role of Governor of any state of India.

(b) Analyse the importance of Finance Committee in the parliamentary committee system.
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POLITICAL SCIENCE — HONOURS
Paper : SEC-2
(Understanding The Legal System)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.

SRS FTerSfe I N

> =R @ 2 evag wiFeR Teg we ¢ xe

21

ol

() I eroyFiead Fe

(F) TTFIL T SIS (F Ble] T 2

(o) SIFCS T SMISTS AN T Ble] =Y ?

() P GIRgAE e

() iz Redin A 7ers It @wine

(5) NALSA-3 53 30 2 @9 N NALSA «fefe afee?
(®) vErepsl efStaes SiRmEma @I 4f6 o R e e
(&) RS SIMIETCST @~ @I G o] Srad @l |

_ e - 5
T~ 95 ST T8 M8 (oo *THT ) ¢
(F) ©IFCS AT FES 50, ! € S S FCE | @+@+30
() T e e G R o @R S erren ety wRd Teel S I wemd
SHER 3G Seel F¢a @+e+d0
ST -

Tt 9% STH7 T M€ (oo *THT W) 2
() T MIETS IFACS I QAT 2 SIS TG SMETCod fARAaR F 2 Sws SIMETred S €

afGeas gl sFEree s o | ¢+@+50
(/) wefeRiRg oiEgd, sses [awm @ Bl et 30

Please Turn Over



(B(2nd Sm.)-Political Sc.-H/SEC-2/CCF) (2)

1.

2.

3.

[English Version]
The figures in the margin indicate full marks.

Answer, in short, any five questions of the following : 2x5
(a) What is Habeas Corpus?

(b) Who introduced PIL (Public Interest Litigation) in India?

(c) When was Lok Adalat first started in India?

(d) What is administrative tribunal?

(e) What do you mean by Judicial Activism?

(f) What is the full form of NALSA? In which year NALSA was setup?

(g) Mention any two provisions of the Anti-defection Act.

(h) Mention any one function of Mahila Court.

Module - 1

Answer any one question (within 500 words) :

(a) Discuss the composition, powers and functions of the Supreme Court in India. 5+5+10

(b) What is PIL? What are its main features? Discuss the importance of PIL with reference to popular

public interest litigation cases in India. 5+5+10
Module - 2

Answer any one question (within 500 words) :

(a) What do you mean by Subordinate Court? What are the classification of Subordinate Courts in India?
Discuss, in brief, the structure and jurisdiction of Subordinate Court. 5+5+10

(b) Write a note on the Representation of People’s Act, 1951. 20
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2024

POLITICAL SCIENCE — MINOR

Paper : MN-2
(Constitutional Government in India)
Full Marks : 75

Candidates are required to give their answers in their own words

as far as practicable.
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(B(2nd Sm.)-Potitical se. -H/MN-2/CCF) (2)

1.

[English Version]
The figures in the margin indicate full marks.

Write short notes on the following subjects (any three) (each within 100 words) :
(a) Significance of the Preamble

(b) Modes of acquisition of citizenship in India

(c) Features of the Directive Principles

(d) Composition of the State Legislature

(e) Advisory Jurisdiction of the Supreme Court.

Module - 1

Answer any two questions (within 300 words) :
(a) Discuss the Right to Freedom enumerated in the Indian Constitution.
(b) Describe the Emergency powers of the President of India.

(c) Briefly discuss the major areas of financial relations between the Centre and the states.
Module - 2

Answer any two questions (within 300 words) :

(a) Write a note on Judicial Activism in India.

(b) Discuss the powers and functions of the Speaker of Lok Sabha in India.
(c) Discuss the role of the Chief Minister in the State Legislature.

5x3

15x2

15
5+10
15
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POLITICAL SCIENCE — MDC
Paper : CC-2
(Constitutional Government in India)
Full Marks : 75

Candidates are required to give their answers in their own words

as far as practicable.
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( B(2nd Sm.)-Political Sc.-MDC/CC-2/CCF ) (2)

1.

[ English Version ]

The figures in the margin indicate full marks.

Write short notes on any three of the following (each within 100 words) :
(a) Composition of the Constituent Assembly

(b) Emergency powers of the Indian President

(c) Relation between the Chief Minister and Governor of a state of India
(d) Judicial Activism

(e) Procedure of passing Money Bills in Parliament.
Module - 1

Answer any two questions (each within 300 words) :

(a) Discuss the nature and significance of Preamble to the Constitution of India.

(b) Review the financial relations between the union and states in India.

(c) Discuss the functions and role of Prime Minister in a Coalition Government.

Module - 2

Answer any two questions (each within 300 words) :
(a) Discuss the functions of the Supreme Court of India.
(b) Discuss the Amendment procedure to the Constitution of India.

(c) Analyse the relation between the two Houses of Indian Parliament.

5x%3

5+10
15
10+5

15
15
15
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POLITICAL SCIENCE — HONOURS
Paper : DSCC-1
(Political Theory : Foundational Concepts)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[Z(Ist Sm.)-Political Science-H/DSCC—I/CCFj (2)

&\ (TP G5 2THT T WS (3@0 *THT W) ¢ Soxd
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() 91TeT ¢ ATATeF TGN RofTre el =51 Fgeam | [T apram |

[ English Version ]

The figures in the margin indicate full marks.

1. Write short notes on the following (any three) (each within 100 words) : 5%3
(a) ‘Political’ as a power-centric concept
(b) Concept of ‘nation’
(c) Monistic view of sovereignty.
(d) Classical concept of freedom

(e) Importance of citizenship in political system.
Module - 1

2. Answer any one of the following (within 500 words) : 20%1
(a) Analyse the Liberal theory of the State.

(b) Do you think that Liberty and Equality are connected concepts? Argue in favour of your answer.

3. Answer any one of the following (within 150 words) : 10x1
(a) Sovereignty is an evolving concept. Explain the statement.

(b) Explain the significance of law as a political concept.
Module - 2

4. Answer any one of the following (within 500 words) : 20x1
(a) Explain how John Rawls seeks to understand the problem and solution of redistributive justice.

(b) Discuss the Liberal theory of citizenship.

5. Answer any one of the following (within 150 words) : 10x1
(a) Discuss how David Held explain ‘protective democracy’ and ‘developmental democracy’.

(b) Authoritarianism is a counter-concept of democracy and political pluralism. Explain the statement.



[Z (1st Sm.)-Political Science-H/SEC-1/ CCIj

2023

POLITICAL SCIENCE — HONOURS
Paper : SEC-1
(Democratic Awareness with Legal Literacy)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.

1. Answer in short any five questions of the following : 2x5
(a) Mention any four laws of criminal justice system in India.
(b) Mention any two rights of an arrested person.
(c) Mention any two laws for prevention of atrocities on women.
(d) What is POCSO Act?

(e) What is the subject of ‘Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act,
1989’2

(f) Mention any two features of cyber law.
(g) What is meant by ‘Labour Law’ in India?

(h) What is Preventive Detention?
Module - 1

2. Answer any one question (within 500 words) :

(a) What are the differences between ‘FIR’ and ‘General Diary’? You have lost your all marksheets in
College Streat of Kolkata. On the basis of this matter write a draft of FIR. 5+15

(b) What do you mean by ‘Personal Law’ in the Indian legal system? Discuss the importance of the
Muslim women Protection of Rights on Marriage Act, (2019) and Hindu Undivided Family (HUF)
Act, 2005 in the Indian legal system. 5+10+5

Module - 2

3. Answer any one question (within 500 words) :

(a) What are the rights guranteed under the Consumer Protection Act (1986)? You purchased a computer
of ¥ 35,000 from a shop in Kolkata. After returning home you found that the computer was not
working. If the shopkeeper did not entertain your complaint, how would you lodge a complain under
the Consumer Protection Act, 1986? Write a draft of your complaint on this issue. 5+15

(b) Discuss the composition and functions of the Central Information Commission. Evaluate the role of
this Commission in present times. 5+10+5
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POLITICAL SCIENCE — MDC
Paper : CC-1
(Political Theory : Foundational Concepts)
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Candidates are required to give their answers in their own words
as far as practicable.
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(z(1st Sm.)-Potitical Science-MDCICC-1/CCF ) (2)

1.

2.

[ English Version ]

The figures in the margin indicate full marks.

Write short notes on the following (any three) (each within 100 words) :

(a) Relationship between Power and Authority
(b) Difference between Nation and State

(c) Features of authoritarianism

(d) Rights to Resistance

(e) Political Obligation.

Module - 1

Answer any two questions (each within 300 words) :
(a) Discuss the Pluralist theory of sovereignty.
(b) Define Law. Describe different sources of Law.

(¢) What do you mean by Liberty? What are the safeguards of Liberty?

Module - 2

. Answer any two questions (each within 300 words) :

(a) Define Right. Discuss different theories of Right.
(b) Discuss John Rawls’ theory of Justice.

(c) Examine the classification of democracy by David Held.

5x3

15
5+10
5+10

5+10
15
15
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2023

POLITICAL SCIENCE — MINOR
Paper : MN-1

(Political Theory : Foundational Concepts)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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(z(15t Sm.)-Political Science-HIMN-1/CCF ) (2)

[ English Version ]

The figures in the margin indicate full marks.

1. Write short notes on any three (each within 100 words) : 5x3
(a) Modern concept of Politics
(b) Pluralistic view of Sovereignty
(c) Equality
(d) Developmental State
(e) Concept of Freedom.

Module - 1

2. Answer any two questions (each within 300 words) :

(a) What is Power? Mention its sources. Write on the relation between Power and Authority.  5+5+5

(b) Discuss the relation between law and equality. 15

(c) What do you mean by liberty? Discuss the safeguards of Liberty. 5+10
Module - 2

3. Answer any two questions (each within 300 words) : 15%2

(a) Discuss John Rawl’s Theory of Justice.

(b) Do you think democracy and authoritarianism are contradictory concepts? Argue in favour of your
answer.

(c) Critically discuss the Liberal theory of citizenship.
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(Z(Jst Sm.)-Mathematics-MDC/CC—I/CCFJ

Write the answers to each 2023
Group in a separate answer-
book. MATHEMATICS — MDC

Paper : CC-1
Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Symbols have their usual meanings.

Group - A
[Calculus]
(Marks : 20)
1. Answer any four questions : 2%x4
(a) If lim sin2x + psinx be finite, find the value of p.
x>0 x3

%
(b) Evaluate j tan® x dx -
0

(c) If y=;—§—1-, find y5(0) where y, is the nth derivative of y w.r.t. x.

n-1
n
(d) If 7, =|x"sinxdx(n>1), prove that [, + n(n—1)I,_,= n(zj )

O Gt |

(e) If y=x2"(n:a positive integer), then show that y_=2"[1.3.5...2n-1)]x".
n

(f) Evaluate lim (\]xz +2x —x).

X—>0

(g) Find the interval on which the function f(x) = x2e™* is monotonically decreasing.

2. Answer any three questions :,

P~
(a) Evaluate limg—ﬂ)—:s
x>0 X

Please Turn Over



(Z(IstSm.)~Mathematics-MDC/CC—I/CCFJ (2)

(b) Obtain a reduction formula for jcos’”xsin nx dx ; m, n being positive integers and deduce that

2 3 m
I = ! 2+~2—+—2—+...+2—- 2+2
2 3

mm = o m

(c) Show that the area bounded by one arch of the cycloid x = a(0 —sinB), y = a(l — cosB) and the

x-axis is 3ma2, which is equal to three times the area of the generating circle. 4
(d) Find the length of the perimeter of the curve r =2(1 - cosb). 4
. . 1 —bsi
(e) Find the values of @ and b if lim x(1+a COS;) oy =1. 4
x>0 X

(f) Find the volume of the solid generated by the revolution of the curve Jx + \/; =+Ja about x-axis.

4
Group - B
[Geometry]
(Marks : 35)
3. Answer any two questions : 215x2

(a) 1f the radius of a right circular cylinder is 5, axis passes through the point (1, 2, 3) and is parallel
x—4 y-3 z-2
-1

to the straight line , then find the equation of the cylinder.

(b) Find the radius of the circle given by x> +y?>+2z2 -2y —4z-11=0 and x + 2y +2z=15.

(c) Find the angle through which the axes must be turned so that the equation Ix +my+n=0 ([#0)
may reduce to the form ax +b=0.

(d) Determine the nature and the length of the latus rectum of the conic whose polar equation is

2. 3-3cosH.
¥
4. Answer any five questions : 6%5

(a) Find the equation of the locus of the point of intersection of two tangents to the parabola y2 = 4ax
such that the chord of contact subtends a right angle at the vertex.

(b) In an ellipse the normal at an extremity of the latus rectum passes through the extremity of the
minor axis. Prove that e* + e2 =1, where e is the eccentricity of the ellipse.

(¢) Find the equation of the cylinder whose guiding curve is the ellipse 4x2 + y? =1, z= 0 and generators

are parallel to the straight line ~;C—:—:—.



(d)

(e)

®

®

(b)

(3) (Z(zst Sm. )-Mathematics—MDC/CC—I/CCF)

Show that the equation of the tangent to the conic ! =1+ecos® parallel to the tangent at 6=
r

is given by (€2 + 2ecosa+1)= r(e? — 1)[cos(8 — ) + ecosB].
Find the nature of the surface given by the equation 3x2 —2y% — 6x— 8y —4z=0.

x2 y2 2z

Show that the perpendiculars from the origin on the generators of the paraboloid '—2-—;2— =
a

lie on the surface (Ei%j(axiby}mzz =0.
a

Find the equation of the sphere having the circle x2+y2+2z2+ 10y —4z-8=0, x+y+z=3 as
the great circle.

Reduce the equation x?— 6xy + y2—4x—4y+12=0 to its canonical form and hence determine
the nature of the conic.

(i) Find the equations to the generating lines of the paraboloid (x +y +2)(2x +y—z)= 6z which
passes through the point (1, 1, 1). Hence, find the angle between these generators.
Group - C
[Vector Analysis]
(Marks : 20)
. Answer any four questions : 2x4
(a) Find, by vector method, the volume of the tetrahedron ABCD with vertices A(1, 1,-1), B(3, -2, -2),
C(5,5,3) and D(4, 3, 2).
(b) Find the projection of the vector d = 7?+§f—4/€ on b=2i+ 6}'+3/€.
(¢) A particle, acted on by constant force 47 +27 + 3k and 7+ 7 +k is displaced from the point { +2]
to 2f - j+3k. Find the work done by the force.
(d) Find the value of the constant d such that the vectors (Zf -j-k ), (f +2/-3k ) and (3? +dj+ 519)
are coplanar.
(e) A force 5i + 2j- 3k is applied at the point (1, -2, 2). Find the value of the moment of the force
about the origin.
(f) Show that the perpendicular distance of the point (Zf + 3]‘~l€) from the plane
F'(4f—3}‘+l€)=18 is "2{/2% units.
(@) If ii =%i —fj+(2r+1)k and ¥=(2¢-3)i + j~tk, then show that g—(a.v)z—s at t=1.
t

Please Turn Over




[Z(zst Sm, )—Mathematics-MDC/CC—I/CCF] (4)

6. Answer any three questions :

(2)

(b)

(©)

(d)

(e)

®

By vector method, put the equation of the plane 5x — 6y + 7z = 8 in normal form and then find the
equation of the plane passing through (2, 3, 4) and parallel to the plane 5x—6y+7z=8. 2+2

Prove that a necessary and sufficient condition for the vector function @(z) to have constant

; dd

magnitude is d.—=0. 4
dt

N A A 7 dF dF
If ¥=5costi+5sint j+7¢k, then find the value of ardrdr .
dt d* dr®

A rigid body is spinning with an angular velocity 3 radians per second about an axis parallel

to 2/ —j’+l€ and passing through the point i +2]’—31€ . Find the velocity of the particle at the
point —4i + j +k. 4

Show that if the straight lines 7 =d+ud and 7 =5 +vp intersect, then (5 —'b) AxB=0 but
axp=0. 4

Prove that for any vector a’,fx(a’xf)+f><(5xf)+l€x(5xl€):22i. 4
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2024

MATHEMATICS — MINOR
Paper : MN-2
(Basic Algebra)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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81 (F-(FHI 5IFMG ATHT TSI WS 2
(F) 315 @R 4235 YT 4572 [efg T 9k 9f6 PRy 5 @R 1 @ FER AUCS
ged (315, 4235) = 3155 + 4235¢ =7 @
@) WU+ 2+[3+ . + (100 -¢F 40 =17 Ol 9 7, O Sleeeg Wefg wcz | @
() fogda®R goffd 3@, @IE f: R - R-& f(x)=|x|+x,xcR @R g : R - R-&
gx) =]x|-x x € R 27 k=fe T3 =) ¢
(2) Chinese remainder o2y 2T FCI AL FCAI 2
x = 2 (mod 3)
x = 3 (mod 5)
x =4 (mod 7)
(®) (D $(2024)-4a3 W= [efy eami ¢
(@) 12+ n+ 41 355 9% Gl A2, @A n 936 Tl w1 — off & B2 gfovm Rem
FCA O+]

®) WA= {2, 3,4} 73, O 4-3 TF TR 54 relation-aF A2 [Refa T T reflexive @22 symmetric
Ty | @
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Y|

(3) (B(zndSm. )-Matlrematics—H/MN—Z/CCFJ

(®) A:R\{A;—}, B_R\{—;—} @R 1 A — B WG e stwrs ¢

-~

S === Ve d
-1 -a= o wite R e g Ko w0 | >+8
ot - o
(CICEREYS
-1 78 AT TwT MG 3 RLexR
(F) ©3EI G {(1.5,2),(1,1,0),(0,0, 1)}, R3-(S (@RFSICI A (linearly independent) & 711 o 1512

I
(%) R3-a3 TG 5-93 @IH spanning (6 @0, @AW S = {(x. v.z) € R3 : 2x + vy — z = 0}.
(o)) aw 4 TG invertible 932 4B = 0 27, OR(E (RIE @ B = 0 @A 4 932 B TSRE »n x n a5 SGH |

() (93 IO+ ol el qTe ey 4= G g) -q7 Fery Reide (own inverse) ¥ |

- 51315 ST TeF Wi ¢ @x8
(&) [eg WIGATF row reduced Echelon form 0% Tt iGEod rank 919 611

01 -3 -1

1 0 1 1

31 0 2

1 1 2 0

(A) a G3R b -9F @ AEHI GO
x+y+tz=1
xX+2y—-z=0b>
5¢ + 7y + az = b?
€% system of linear equations-43
(%) GG TG (unique solution) AFCI ?
(| CFIT ST 73 (no solution) ?
(2) I MW (many solutions) AFCI 2

(51) 2SI TR G, (A + B)A™ (A - B)= (4 - B)A™" (4 + B) AW 4 @2z B asf s 23 @< A FsiSrexy
(invertible) 27 |
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@) aWm {a, B, v}, R"™-« @RFSI@ AN (linearly independent) Gi6 7, ST &5 I (A,
lao+B+v.B+y v)e

R"-«a @6 @IRFSIT =TT (linearly independent) (5 |

XxX-2v+z=0 . . : ; i
8) 7“ 1 &3 system of linear equations-4aF I (A9 (Solution space) dimension @3%
_\‘ - -_/L? J—

z:Of

basis T a1 |
() 2x -3y +4z=3,3x+ 2y —z =4, 5x + 3y - z = 7 TN WG SR AX = B-(© iz

T ST I |

@ W S = {a;, ay, a3, oy} 9B G, @AAE o) = (1, 2, 1), o = (-3, =6, 3), o3 = (2, 1, 3),
oy = (8,7, 7) e R 27, O3 S-93 @36 subset 7 e @ AT L(S) = L(T) 27| @A L(S)
§-3 linear span N0 a0 |

[ English Version ]
The figures in the margin indicate full marks.

Throughout the question paper R denotes the set of real numbers.
Other symbols have their usual meanings.
Group - A
(Marks : 25)
1. Answer any two questions : 2%ax2

(a) Find the cube roots of —1.

(b) Apply Descartes’ rule of signs to find the nature of the roots of the equation x8 — 1 = 0.

(c) Show that (n + 1)" > 2".n!, where 7 is any positive integer.

(d) If the roots of the equation x3 + px? + gx + r = 0 are in A.P., then show that p? > 3g.

2. Answer any four questions : 5x4

where g, b are real numbers not both zero.

a— ib} _ 2ab
a

(a) Prove that sin {i log 5 =,
+ b~

a+ib

(b) Solve the equation x3 - 18x — 35 = 0, by Cardan’s method.

(c) Solve the equation 2x3 — x2 — 18x + 9 = 0 if two of the roots are equal in magnitude but opposite
in sign.



(d)

(e)
(H

(2

(5) [ B(2nd Sm.)-Mathematics-HIMN-2/CCF J

Using Cauchy-Schwartz inequality, prove that

1 1 1 i
(a+/_7+c+c/)(—+—+—+—\§> 16,
\a b ¢ d)

where a. b. ¢. d are all positive real numbers (not all equal).
Solve the equation cos z = 2, where the solutions should be written in general form.

a. b. ¢ be positive real numbers, prove that

a b ¢
-+ >

.
S

+ —, unless a = b = ¢.
b+c¢c c+a a+b 2

Find the sum of 99th powers of the roots of the equation x’ — 1 = 0.

Group - B
(Marks : 25)

3. Answer any two questions : 2Y5x2

(@)

(b)
(©)
(d)

Suppose f: R — R be defined by f(x) = v2 — 5x + 6. Prove that fis neither an injective mapping
nor a surjective mapping.

Find two integers v and v such that 54u + 24v = 30.
Find out the unit digit of 32°%%,

Examine whether the relation R, defined on the set Z by a R b if and only if
a—b<35,a b e Z is an equivalence relation or not.

4. Answer any four questions :

(a)

(b)
(©

(@

(e)

(H

Find gcd of 315 and 4235 and find integers s and ¢ such that ged (315, 4235) = 315s + 4235+

5
Find the remainder when |1 +|2 + {3+ ........ + {100 is divided by 40. 5
Find fo g and g o f, where f: R — R is defined by f(x) = |x| +x,x e Rand g: R - R is
defined by g(x) = |x| —x, x € R. 5
Solve the system of linear congruences by Chinese remainder theorem
x = 2 (mod 3)
x = 3 (mod 5)
x =4 (mod 7) 5

(i) Find the value of ¢$(2024).
(i) n* +n+4lisa prime number, for all » € N. Is it true? Justify your answer. 3+2
If 4 = {2, 3, 4}, then find the number of relations on 4 which are both reflexive and symmetric.

5

Please Turn Over
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1
(g) Let A=R\ {——5} B =R\ {%} where R denotes the set of all real. Let f: 4 — B be defined by

. x-3
f(x)= il for all x € A. Does /! exist? Justify your answer. 1+4
Group - C
(Marks : 25)
5. Answer any twe questions : 2%5x2

(a) Verify whether the set of vectors {(1, 5, 2), (1, 1, 0), (0, 0, 1)} is linearly independent or not in R3.
(b) Find a spanning set of the subset S of R3, where S = {(x,y,2) € R3 : 2x + y — z = 0}.
(c) If A is invertible and 4B = 0, then prove that B = 0, where 4, B both nxn (square) matrices.

(d) Find the value of A so that the matrix 4 = G i) is its own inverse.

6. Answer any four questions : 5x4

(a) Find the rank of the matrix by reducing it to row reduced Echelon form

01 -3 -1
I 0 1 1
31 0 2
11 2 0

(b) Determine the conditions for which the system x + y +z=1,x + 2y —z=05, 5x + Ty + az = b2
admits of (i) only one solution, (ii) no solution, (iii) many solutions.

(c) Prove that (4 + B)A_l A4-B)=4 - B)A_1 (4 + B) if A and B are square matrices and A4 is
invertible.

(d) If {o, B, y} is linearly independent set of vectors in space R”, then prove that {a + B + v,
B + v, v} is also a linearly independent set in R”.
(e) Find the dimension and basis of the solution space of the system of equations :

x—-2y+z=90

[N]

x—-2y-z=0

(f) Transfer the system of equation 2x — 3y + 42 = 3, 3x + 2y ~z =4, 5x + 3y — z = 7 to a matrix
equation AX = B. Hence, solve the system by using the properties of matrix.

(g) Find a linearly independent subset T of the set S = {a,, o, a3, o4}, where o; = (1, 2, 1),
Oy = (-3, -6,3), 03=(2,1,3),a,=(8,7,7) € R3 which spans the same space as S.
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MATHEMATICS — MINOR
Paper : MN-1
(Calculus, Geometry and Vector Analysis)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.

TS RS AT WE |
[Symbols have their usual meaning.]
e -7
[Calculus]

(Marks : 20)

S| -G 5IAf TaT Ted e %8

R

x? sin(—j
(@) W Ry s ¢ lim ——22 |
x>0 sinx
@I L’ Hospital-a3 31w gtarey & =1 qpap a1 |
(&) s Bz e %:x:a(6+sin9),y:a§(l+0059), T ng I
(o) ;M y= (2~ 1)" =7, ORE @M @ (x2— 1)y, —2(n— )y~ 2ny =01
®) jxnexdx =x"e" - njxn_lexdx -4 Reduction formula 92 B jXSexdx-ﬁﬁ W fAdfa s |

(8) F@lba Fwae Fef R, A Parametric equation 20 x =2sin’ 1,y =3cos’ 1,1 € [O,-ﬂ, T

t 936 parameter |
(5) o8 (@ x2+)? = 36 Jred AR W 127
(® y=x2 IGRA GR y = 2x @ A ARERES W crawa [ @

-1 foafs otz Saea e ¢ 8x®

1+ —bsi
(®) @ % b3 315 B w1 9 L A0S ) Zbsinx

x>0 xJ

Please Turn Over
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ol

81

() y=sin(ax+b) SAHB nth order derivative Ny @3t
(o) I p = tan-lx =, ORE FMS (T (1 +)c2)ynJrl +2nxy, + n(n - Dy, ;=01

) f tan” xdx -a3 Reduction @ fefa a1 | @3 srraizy f tan* x d-a3 w7 fefy <oz

(®) x=acos’, y = b sin30-93 7 w71 s CFET CPape 9y 373
() X-orTe 5% 0 Vx +\[y = Vo T@ERE g 8 solid-a3 wied fiefy g |
et - 4
[Geometry]
(Marks : 35)

- 7o &Tee Teq ms ¢ VAN
(%) A TP 45° (R =, wmxkyzzzsﬂﬁ?wﬁaﬂﬁaﬁa%ﬁwﬁﬁ@w:

) L:l—cose W@i@ﬁﬁ @WW%@WWM&US vector-43 W J<few |
r
(1) (2,3,4)Wﬁmr@cmﬂm@wmmm%@iﬁcﬁmz

Xty 422 2% —dy_6z-25=0]
(@) WW@%@W,WW(O, 0, 0) 99 IGIIT R 12+ 32 =4, ;=2

-G 515 &vsa Sag wie 3 ux@
(%) 637~ 5xy— 6)2+ 14x + 5y + 4 = 0 AR I canonical FtAl AfRRSS s @9t e (e
conic-f65 &Ffe el stz
i 1
) rcos(9~a)=p AN I —=1+cosH ST o 377, OF 18 @, pzalsecoc |
14

(D crate @@ 93 Boiqrea 7 siror ergeics s msiefzog R Aol @l g |
() (o, B, 7) W RS swreerfs (plane) 2= Srwafeics A, B, C R0e =% w31 orae @ OABC

AT (T steemai zge S BTy

X y z

(®) @O G x° + )7 + 22 4 20— 4y +5=0, 2y 4324120 78l @ J22 9@ (Great Circle) =13,
TR (TR S1iieae fiefy e |

() @ﬁﬂﬁ—i@?*@?ﬁﬁqﬁ‘ﬁw,wwiﬁ%@@ WAFES, T -9 Fae f:§=
T S-Bary @l 30°

IR

(PSRN
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(3) (215t Sm.)-Mathematics-Hmi 1/CCF)

. -1 y-2 z-3
(®) @ =79-98I FCETR AN el S, A IR 2 G=R 7 -7 ARl x2 :y1 - ‘2 |
222
(%) —Z + “9 BT 1-92 hyperboloid-fo= generating AR AT wae Fefa s, @ (2, 3,-4) ™
e o5 03

(@) 0TS (@ 222+ 512 + 322 4x + 20y — 62— 5= 0 93 ellipsoid-a9 FHowel T @7 (1,-2, D1

Tt - of
[Vector Analysis]
(Marks : 20)

(T~ 51715 o787 Teq wie ¢ 38
(®) 20— j+k, i+2]+dk @ 20 4] +5k (TFIH @Ry 70, d gl W R |
() 20+3j+4k R 30 +4]+5F Repafi g @af e s Rl < |
(1) 29 FCE @, @A G (97 G-97 T, Zx(axi)+fx(axf)+1€x(ax1€):25 !
() A=5"+1j+%k @72 B=sinti—cost} =& g—(Z-E)M?IWﬁ‘ﬁIWl
t
(8) e G, [f+}}+/2/€+f]:zu
®) a9 b b (539 q k I 9B @ 7, ©7 G AN (O3 7 8 S, @AW Gx7=b @2

a-r=k,
® 0,Q, R« 8 513fb g a1t ortent foafb R 7w 71 O wat g esioss Q, R, S e position
vector I I B, v, 3, T, 13 OQ ¥ RS ATHAI Erﬁi TUON g (shortest distance) Refy =t
- foaf5 207 Bag e ¢ ' 8x©

(@) ¢=x2-)2+ 222 WO P(1,2,3) R9re PO Fa#109<d W@ Directional derivative fef T,
@I Q 7l == (5, 0, 4) |

(@) 7=(2acosr, 2asin, br? ) 7wlha, orve , [7 5 ¥)=sar

() 7 9l ($9 TS (1) 167 i O™ B0, O e @, Gx 22—

dt
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() 93 o Bopg 4i+ ] -3k @z 3i+ j-k @ qer 7 oTe wE, i 14243k
Si+4j+k Rrs Zmrefie R 01l B armg o Fefg |
(®) %7 s e IIET (e afE TR |

() F=31+2]-4f « 5 (1, -1,2) 3 Eo1 aiter v (2= 1, 3) o7t (@ w050 - moment foje
FLA93R magnitude el wan

[English Version|
The figures in the margin indicate full marks

[Symbols have their usual meaning. |

Group - A
[Calculus]

(Marks 20)

I. Answer any four questions - 2x4

.
x° sm(‘j
~ . X
(a) Evaluate - lim ——22 /7
=0  siny

Is L’Hospital’s rule applicable here? Explain.

v .
(b) Find CT}:,\‘:51(9+sm9),y:a(l+0059), when e:—;.
dx

() If v=(2= 1", then show that (x2 - Dyy—=2(n - Dy =20 =0,

3 . . Ry X -l x
d) Evaluate | x’¢*gy using the reduction formula | x"edy = "o —nfx" edx |
g

(e) Find the curve whose parametric €quation is x:2sm21,y:3coszt,le[0, 5], where ¢ is g

parameter,
(f) Show that the length of the circumference of the circle x2+ 32 = 36 is 127

(2) Find the area bounded by the curve y=x7and the line y=2x.

2. Answer any three questions - 4x3

. . : (1 +acosx) - hsin v
(@) Find the values of ¢ and / in order that lim T =

() X

(b) Find the nth order derivative of the function Y =sin(ay + b)),

() If y=tan Iy, then show that (1 +"':)"}z-‘~f + 217,\j\‘,, +n{n - I)}'N\] =(.



(5) (zastsm. )-Mathematics-H/MN-1/CCF)

(d) Find the Reduction formula for J‘tan”xdx, hence evaluate J.tan4xdx,

(e) Find the area enclosed by the curve x =g c0s30, y = b sin30.

(f) Find the volume of the solid generated by revolution of the curve \/;-l- \/; = \/; about the X-axis.

Group - B
[Geometry]
(Marks : 35)

. Answer any two questions : 2/2x2

(a) Transform the equation x2 — ¥? =25 when the axes are rotated through 45°,

. . { . .

(b) Find the point on the parabola ~ =1—cos® which has the smallest radius vector.
v
(¢) Determine whether the point (2, 3, 4) is an outside or an inside point with respect to the sphere :
x2+y2+22—2x~4y—6z—25=0

(d) Find the equation of the cone whose vertex is the point (0, 0, 0) and whose base is the curve

2 2 — —

xcty =4, z=2,

. Answer any five questions : 6%5
(a) Reduce the equation 6x2 — 5xy —6y2 + 14x + 5y+4=0 to its canonical form and hence determine
the nature of the conic.

(b) If the straight line rcos (6- o)=p touches the parabola ! =1+cos0, then show that p = %I Seca .
: r

(c) Show that the locus of the point of intersection of a pair of perpendicular tangents to an ellipse is
a circle.

(d) A plane passing through a fixed point (a, B, y) cuts the coordinate axes at A, B, C. Show that the

locus of the centre of the sphere OABC is E+E+z =2.
X y z

(e) Find the equation of sphere for which the circle x* + y2 +22 42— 4y+5=0,x-2y+3z+1=0 g
a great circle.

(f) Find the equation of the right circular cone whose vertex is the origin, whose axis is the line

X

N e
[FSEEN

and which has semi-vertical angle of 30°.

. . . . . . . .ox—1
(g) Find the equation of the right circular cylinder of radius 2, whose axis is the line Yz = =

Please Turn Over
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(h)

)

5. Answer any four questions : 2><4

(a)

(b)
(c)

(d)
(e)

®

()

2 2 2

Find the equations to the generating lines of the hyperboloid —Y-4— +% ~f—6— =1, which pass through

the point (2, 3, -4).

Show that the quadric surface given by the equation 2x2+ 532 + 322 — 4y + 20y—6z—5=0 is an
ellipsoid whose centre is (1, -2, 1).

Group-C
[Vector Analysis]
(Marks : 20)

Determine the value of the constant d such that the vectors 27 —j+ /Q, i+ 2]+ dk and 27 - 47+ 5k
are coplanar.

Find the equation of the line passing through the point 27 + 3}’+4/€ and 3/ +4]+5k.

Prove that, for any proper vector E,fx(ﬁxf)+f><(5><f)+1€><<2ix/€>:25.
- o aa - . d/o -
If A:512i+tj+t3k and B=sinti—costj, find Q—(A'B).
t
Show that [f+} J+k l€+z°]=2.

Let @ and 5 be two given vectors and let k be a given scalar. Find all vectors 7 such that

=pand @ F=k.

Y

ax

Q, R and S are four points, fio three of which are collinear. If B, vy, § be the position vectors of
R,

0,
Q, R, S respectively with O as origin, then find the shortest distance between the lines OQ and RS.

6. Answer any three questions : 4x3

(a)

(b)

(c)

(d)

Find the directional derivative of the function o =x2—y2+ 222 at the point P(1, 2, 3) in the direction
of the straight line PQ, where Q is the point (5, 0, 4).

For the curve ¥ :(Zacosl, 2asint, btz), deduce that [7 ? ﬂzgagbf.

If a vector function Zz'(t) possesses constant direction, then show that 5x§:6.
t

A particle, acted on by constant forces 4i+ -3k and3i+ j—£, is displaced from the point
[+2]+3k to the point 5i + 4]+ k. Find the work done by the force on the particle.
Show by vector method that the angle on a semi-circle is a right angle.

A force F = 3i +2j —4k is applied at the point (1, -1, 2). Find the moment of F about the point
(2,-1, 3). Also find its magnitude.
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10.

11.

12.

13.

14.

(B2na sm.)-Geography-r/pSCC-2/CCF)

2024

GEOGRAPHY — HONOURS
Paper : DSCC-2
(Human Geography)
Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Category - A

Answer any ten questions (each within 50 words). 2x10
Name two different measures of density of population.
What is meant by dry-point rural settlement?
Where does a linear settlement grow?
State the spatial distribution of hunting and food gathering societies of tropical world.
What is meant by cultural landscape?
Which factors lead to the dispersal of rural settlements?
Differentiate between a Census town and a Statutory town.
What is Anthropogeography?
Mention two recent trends in human-environment relationship.
What is migratory subsistence agriculture?
How does post-industrial society differ from an industrial society?
State the importance of ‘site’ in the establishment of a rural settlement.
When is a settlement known as urban in India?

Define megacity according to the Census of India.

Please Turn Over
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Category - B

Answer any five questions (each within 125 words). 5%5
How does demographic dividend influence dependency ratio?
State the cultural ties of Todas with their livestocks.
Discuss the recent trends in Human Geography.
Discuss the merits and demerits of the Demographic Transition model.
Highlight the role played by migration in the population change of a region.
What are the effects of globalisation on post-industrial urban society?
Why is the social and economic system of pastoral nomadism undergoing changes in recent times?

Category - C

Answer any two questions (each within 500 words). 15%2
Give a reasoned account of the traditional livelihood pattern and challenges of the Chenchus in India.
Discuss the resource approach in Human Geography.
Account for the uneven distribution of population in India.

Discuss the characteristics of urban settlements with examples from the developed and the developing
world.
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2024
GEOGRAPHY — MINOR
Paper : MN-2

(Human Geography)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.

eFHR© Terel o Horw )

Rert-=
- T «TET Teg me (45T ¢o *iter W) 3x%0

ST EEERY” Fe

R Iei-Ters Perifices wib @f®y o

o1 = (site) T2

81 NG FIF I 2

€| (ool Teifon @-@E! 9t @R S S|
Y| ‘Demographic dividend’ 3T 38 Bl @eal |
Al XY EPRY! I @0 @R ?

b SRS GPRYE T JICR @~ G 46 F17e ST It
51 TPRYE Reers FitE I

Yol EHIEF TS F @RI

5| EHENTSE AT WS |

SR MRS SPIE ©RTeR (N7 I @ e |
so| ‘R omaif® s qw e

81 Mm N7 s St I e
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el

S|

Qi

Sl

ol

o1

W

R

W

8|

R@ |

et - ¢
&-cPIaT il etag Tea wie (A% S =i )

TERRTR ORTed GiNsrTgifeies $iia (aREref siEma w3t

(olle SAETeTa GIR-Al o/ ST IR |

TIFOIY T2 TR G I I |

e as] Mo smees el s s

AR QAT AR 3ol 1< Bvt Gt |

SIS SIS SR wiwe ¢ ifiy BRete e weefen @fiRels s
GRS TSR AR @ sEfRuafer Sites S |

et - o
- (T e 2T Ted wie (AfSfh eoo =t W)

AT G T ICH 2 M QNE ATTET @IS F7=o{TF S TR |
B ToEfe7 BIBRS GRaaR 4I 091 7ie | SItHE SR TR ST 361 |
STRITEBPTR GPRAR Raen wred [Rfen sl siems st |

aifie S R @F @I di5feT ¢ Mgfes Bome 71 oIS =7 2 WTes I

[English Version]
The figures in the margin indicate full marks.

Category - A

Answer any ten questions (each within 50 words)

. What is optimum population?
. Write any two characteristics of age-sex pyramid.
. What is site?

. Define ‘hamlet’.

X

O+5]

Yo+¢

¢

¢

2x10



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

( 3 ) (B(an Sm.)-Geography-H/MN-2/C Cla

State any two characteristics of Toda tribes.

Write a short note on Demographic dividend.

What is meant by zero population growth?

State any two factors responsible for the slow growth rate of population in India.
Define population explosion.

What is over population?

Define density of population.

Give the census definition of urban settlements in India.

What is dispersed settlement?

What do you understand by industrial society?

Category - B

Answer any five questions (each within 125 words) 5%x5
Identify the major characteristics of subsistence farming with special reference to India.
Give an account of traditional livelihood pattern of the Gond tribe.
E;(plain the 'importance of courtyard in Indian homes.
What are the characteristics of post-industrial urban society?
Write';;i short note on the scope of Human Geography.
Discuss briefly the size-class classification of urban settlements after Census of India.
Discuss the merits and demerits of the Demographic Transition model.

Category - C

Answer any two questions (each within 500 words)
What is Human Geography? Discuss the recent trends in Human Geography. 3+12

Give a reasoned account of the traditional livelihood pattern of the Chenchu tribe. State the problems
faced by them. 10+5

Critically discuss the phases of Demographic Transition model. 15

Explain the physical and cultural factors influencing rural settlement types. 15



10.

11.

12.

13.

14.

[Z(Ist Sm. )-Geography-H/DSCC—I/CCF)

2023

GEOGRAPHY — HONOURS
Paper : DSCC-1
(Physical Geography)
Full Marks : 75

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.

Category - A

Answer any ten questions. (each within 50 words) 2x10

. What are the three ways of representing scales?
. Define generating globe.

. Differentiate between P-wave and S-wave.

What is mantle?

. Distinguish between carbonation and oxidation.

What is cavitation?
What are the major agents of erosion?

What is tropopause?

. Define index cycle.

What is regolith?

Define soil catena.

Define humus.

State any two adaptations of xerophytes.

Differentiate between hazard and disaster.

Please Turn Over
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Category - B

Answer any five questions. (each within 125 words) 5%5

Classify map projections on the basis of properties.

What is meant by seismic shadow zone?

Distinguish between entrenched and ingrown meanders.

Write a short note on composition of atmosphere.

Distinguish between eluviation and illuviation.

Describe different types of hydrophytes with examples.
Distinguish between quasi-natural hazard and man-made hazard.

Category - C

Answer any two questions. (each within 500 words) 15x2
Describe the various processes of weathering with the help of diagrams.
Give an account of the landforms produced by fluvial processes with suitable sketches.
Explain planetary wind system with suitable sketches.

Explain the factors controlling soil formation with examples.



10.

11.

12.

13.

14.
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2023

GEOGRAPHY — HONOURS
Paper : SEC-1
(Methods in Geography)
Full Marks : 100

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Use of scientific calculators is allowed in this Examination / Paper.

Group - A

Answer any ten questions (each within 50 words).

. Define primary survey.

What is sampling bias?
Differentiate between variable and attribute.
Differentiate between raw data and grouped data.

Mention the name of any two software used for entry and analysis of field data.

2

2

If mean temperature is 20 °C and coefficient of variation is 40%, calculate the standard deviation. 2

Determine the median of these rainfall (¢cm) observations at 12 stations : 95, 55, 61, 81, 107, 101, 73,

77, 98, 77, 89, 83.
Differentiate between range and interquartile range.

Mention one advantage and one disadvantage of undertaking smartphone levelling.

2

2

1+1

The yields in grams of five tomato plants are 1205, 1247, 1302, 1256 and 1260. What is the mean yield?

State the uses of distometer.

2

2

Mention any two advantages of using satellite images for mapping areal extent of riverbank shift. 2

What do you mean by dominant and distinctive function?

What is detour index?

2

2
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15.

16.

17.

18.

19.

Group - B

Answer any seven questions (each within 125 words).

Define pilot survey and discuss its relevance for conducting a primary survey.

Write a short note on simple random sampling.

Mention any five differences between questionnaire and survey schedule.

5

5

What are the different parts of a master table? Explain with the help of suitable diagram. State two
advantages of tabulation of data.

Calculate the detour index values from the data provided in Table-1.

Table - 1
From To Shortest route Straight line distance (km)

distance (km)

P A 1.0 0.9

B 5.0 5.0

C 5.0 49

D 9.0 7.5

E 9.0 5.8

F 9.5 5.9

G 5.5 3.9

H 4.5 3.6

I 8.5 5.8

J 9.5 6.6

20. Calculate the frequency densities from the data given in Table-2.

Table - 2
Daily income (Rs.) No. of employees
124.5-134.5 105
134.5-154.5 338
154.5-174.5 271
174.5 - 194.5 260
194.5 -244.5 266
Total 1240

2+1+2

5



21.

22.
23.
24,

25.

26.

27.

28.

29. How the areas inundated during a given flood event can be mapped using satellite images and elevation

(3) (z(15t Sm.)-Geography-HISEC-1/CCF)

What is the difference between absolute dispersion and relative dispersion? What is the advantage of

using relative dispersion? _ 3+2

What is the utility of a ternary diagram? What data units are used along the three axes? 3+2

Discuss the different parts of a brunton compass. 5

Discuss the importance of undertaking soil particle size analysis. 5
Group - C

Answer any three questions (each within 500 words).

State the sampling type suitable for analysis of disparity in an area where the people of different social
groups reside and discuss its advantages and disadvantages. 15

Prepare a questionnaire with double and multiple answer types questions about the perception of the
local people regarding the environmental problems in their locality. 15

Explain the stages involved in the textural classification of soil samples using sieve set mentioning the
primary soil textural classes. 15

Compare the variability of rainfall for the two given districts (Table-3) using co-efficient of variation.

models?

15
Table - 3
Monthly rainfall for two stations (mrﬁ), 2021
Months Jaisalmer Darjeeling
January 0.0 122
February y 00 2.6
March 0.0 17.2
April 0.6 69.4
May 37.2 309.7
June 574 584.3
July 96.8 722.1
August 5.6 876.8
September 1137 356.6
October 2.4 385.9
November 0.0 212
December 3.0 15.8

15
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(Physical Geography)
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Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

Category - A

Answer any ten questions (each within 50 words).

. What is large scale map?

Define projection plane.
What is vernier constant?
What is the significance of L-wave?

What is jet stream?

Mention the pressure belts of the earth.

exe

pleq

Pl

Pl

e

2x10



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

(3) (Z(Ist Sm. )-Geography—MDC/CC—I/CCF]

What is immature soil?

What are sciophytes?

What is canyon?

What is humification?

Write two adaptations found in hydrophytes.

What is exfoliation?

Why chemical weathering is most common in the equatorial region?
What is the difference between hazard and disaster?

Category - B

Answer any five questions (each within 125 words).
What do you mean by perspective and non-perspective projection?
Discuss the structure of the earth’s crust.
What is meant by index cycle?
Discuss the formation of alluvial fans and alluvial cones.
Describe an ideal soil profile with diagram.
“Quantity of water greatly determines the naiture of the plant.”- Justify the statement.
Discuss the causes of any two significant naﬁral hazards in India.

Category - C

Answer any two questions (each within 500 words).
Classify maps on the basis of scale and function with examples.
Discuss different processes of physical weathering with sketches.
Discuss the characteristics of different layers of the atmosphere with diagrams.

Classify plants according to availability of water.

5

5%35

15

15

15

15
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Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Category - A
Answer any ten questions (each within 50 words) : 2x10

Define projection.

What is representative fraction (R. F.) Scale?
Define thematic map.

What are seismic waves?

How is an ox-bow lake formed?




© ® 2

10.
11.
12.
13.
14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

(3) (z(1stSm.)-Geography-HIMN-1/CCF)

What is horse latitude?

What is floodplain?

Define regolith.

What is soil profile?

What is carbonation?

What is Gutenburg discontinuity?

Define soil catena.

Mention two characteristics of halophytes.

What do you mean by quasi-natural hazard?

Category - B

Answer any five questions (each within 125 words) : 5x5
Briefly explain the development of an ideal soil profile.
Differentiate between hazard and disaster with example.
State the characteristics of mantle.
Briefly mention the characteristics of jet stream.
Explain L.T.C.Z. |
Discuss briefly the development of a peneplain.
Explain the process of exfoliation.

Category - C

Answer any two questions (each within 500 words) :

Give an account of the composition of the atmosphere. Discuss the different layers of the atmosphere in
detail with diagram. 7+8

Define weathering. What are the different types of weathering? Explain the process of chemical
weathering. 2+3+10

Explain the various processes of fluvial erosion. Discuss different fluvial erosional landforms.  5+10

Discuss the characteristics ofﬂxerophytes and explain how they differ from hydrophytes using suitable
sketches. 15
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2024

ECONOMICS — HONOURS
Paper : DSCC-2
(Macroeconomics-1I)

Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as.far as practicable.

Group-A
1. Answer any ten questions : 2x10

(a) Define implicit deflator.

(b) Under what condition, Gross National Product will be less than Gross Domestic Product?

(¢) Mention two determinants of investment.

(d) If Marginal Propensity to Consume (MPC) = 0.75, how much additional investment is required to
increase income by ¥ 6007

(e) Distinguish between autonomous investment and induced investment.

() “The income earned by the Afgan cricketer Rashid Khan from playing IPL in India will be
included in India’s Gross National Product.”— Justify whether the statement is true, false or
uncertain.

(g) Define the velocity of circulation of money.

(h) Let a consumption function is given by C = 100 + 0.5Y. Derive and draw the savings function in
this context.

(i) What is the shape of Aggregate Supply curve under the Classical Model?

(3) Though planned savings equals planned investment, actual savings equals actual investment only
at the equilibrium point. True or False? Justify.

(k) State the difference between NNP at market price and NNP at factor cost.

(1) What is depreciation?

(m) How are the following expenditures treated in national income accounting?

(i) Purchase of computers by the Economics Department
(i) Purchase of computers by you.
(n) How would the current level of full employment output change when a new teaching technique

improves the educational performance of high school seniors?

Please Turn Over
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(0)

Consider two sets of data for two economies. Suppose government’s interest payments are larger
in one economy. If everything else is the same, will the investment be larger in the economy
where government’s interest payments are larger?

Group-B

2. Answer any five questions :

(@)

(b)
©

(@

©

®

(2)

(h)

In an economy the household buys bread worth ¥ 150 from the baker and flour worth ¥ 20 from
the miller. The baker spends ¥ 40 to buy flour from the miller to be used in production. The miller
does not purchase any intermediate inputs. Compute Gross Domestic Product by the Value-added
method. 5

Define Marginal Efficiency of Capital. How is it different from Marginal Efficiency of Investment?

2+3
Define Balanced budget multiplier. Derive the value of Balanced budget multiplier in a Simple
Keynesian model if investment is an increasing function of income. 2+3

What is Say’s Law of markets? Can the operation of the law prevent the emergence of involuntary
unemployment in the classical model? 2+3

(i) Define inventory.

(i) Let C =100+ 0.75Y, I=20. Find out the change in the average daily involuntary change
in the inventory function, when (A) Y = 400 (B) Y = 500, where C, I and Y have their usual
meanings. 243

(i) What happens to GDP when the owner of a small firm marries his secretary and stops
paying for her work, which she continues to perform?

(i) What are the implications of a balanced, deficit or a surplus government budget on the
circular flow of income? 2+3

(i) Assume a closed economy model with Y=C+1+G.

Suppose that investment demand depends on the level of income, i.e., I=e +dy and
C=a+b(l-10Y.

Sketch the spending line for the economy that shows how total spending increases with
income.

(ii) What is consumption puzzle? 1+1+3

Explain the mechanism by which an increase in money supply will lead to an equiproportionate
increase in price level. 5



3.

6.

7.

(b)

(3) @2:“1 Sm. )—Economics—H/DSCC—Z/CCF)

Group-C

Answer any three questions.

(a) In a hypothetical economy
GDP = ¥ 6,000
Gross Investment = ¥ 800
Net Investment =% 200
Consumption =¥ 4,000
Government purchases of goods and services =% 1,100
Government budget surplus =¥ 30
Find out the values of NDP, Net exports, Government taxes minus transfers, disposable personal
income and personal saving.

(b) How is the gap between savings and investment related to trade deficit? 5+5

(a) Compare the values of Government expenditure multiplier in a Simple Keynesian framework
when

(1) tax is lump sum
(ii) tax is an increasing function of income.

(b) In an economy an increase in income leads to a 80% rise in consumption. Now if a fresh
investment of ¥ 1,000 crores take place in the economy, what will be the change in the equilibrium
income? What will be the change in the consumption expenditure and savings due to this increase
in investment? {B+H3)+1}+{1+(1+1)}

(a) “If marginal propensity to save is greater than marginal propensity to invest, an increase in
personal savings leads to the reduction in national income and savings.” — Justify the statement
with the help of a diagram. What are the relevant assumptions in this context?

(b) IfY =% 525, autonomous consumption = ¥ 80, autonomous investment = ¥ 25, determine the value
of marginal propensity to save, where Y has its usual meaning.

(¢) Analyse the stability of the equilibrium in a Simple Keynesian Model, when MPC is greater than
unity. (4+D)+2+3

In a classical model, discuss the impact of (a) Improvement in technology (b) Increase in money supply
in the economy with the help of suitable diagrams. . 5+5

(a) Whatis the inflationary gap? Explain with diagram.

Distinguish between cost push and demand pull inflation. How can we control the cost push
inflation? 3+(3+4)
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(Macroeconomics - I)
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Candidates are required to give their answers in their own words
as far as practicable.
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10.

11.

12.

13.

14.

Group - C

Answer any three questions.

How equilibrium national income is determined in the simple Keynesian model through income expenditure
method? Is this equilibrium a stable equilibrium situation? 8+2

Explain the concept of autonomous investment and induced investment with the help of diagram. What

is marginal productivity of capital? 8+2
Discuss the factors which determine investment. 10
Explain how employment and output is determind in the classical model. 10

Explain the differences between Demand-pull inflation and Cost-push inflation. 10
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2024

ECONOMICS — HONOURS
Paper : SEC-2
[ Introductory Statistics and Application (II) ]
Full Marks : 25

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Answer any five questions.

What are the advantages and disadvantages of using field survey data? 5
Why is a pilot survey important before conducting a large-scale field survey? 5
What are the key differences between cross-sectional and time series data? 5
. What is panel data, and how does it differ from pooled data? Provide an example of each. (2+2)+1
. How does field survey data contribute to the accuracy and reliability of economic analysis? 5
How can field survey data be used to evaluate the impact of government programs? 5
. What are the ethical considerations in conducting field surveys? 5

How can technology be used to improve the efficiency and accuracy of field surveys? 5
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2023

ECONOMICS — HONOURS
Paper : DSCC-1
(Microeconomics-I)

Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A

1. Answer any ten questions : 2x10

(a) What happens to a budget line if the price of good ‘2’ increases, but, the price of good ‘1’ and
income of the consumer remain constant?

(b) Calculate the marginal productivity of labour for the production function : q = 3L + 2K.
(c) What do you mean by average product?

(d) An increase in the demand for computer game raises the quantity supplied by 50 per cent.
If elasticity of supply is 5, determine the change in price.

(e) You like both oranges and milk but do not like them together. With the help of budget line and
indifference curve show the consumers’ equilibrium in this case.

(f) If demand is unitary elastic, how will a;decline in price affect total revenue?

(2) Raya is always willing to trade one can of coke for one can of sprite or one can of sprite for one
can of coke. Draw a set of indifference curves for Raya.

(h) What is a production possibility frontier?

(i) Ajay is consuming two commodities X and Y. If he is indifferent between commodity bundles
(10,15) and (12,14). Find the value of marginal rate of substitution of Y for X.

() What is the difference between giffen good and inferior good? _

(k) Can a set of indifference curves be upward sloping? If so, what can you tell about the two goods?
(1) Mention two opportunity costs of attending economics honours classes in your college.
(m) When is the indifference curve concave to the origin?

(n) “An increase in the interest rate will cause a decline in investment.”— Is it a positive or normative
statement? Justify your answer.

(0) Raja only cares about the amount of cash that he is holding and does not care at all about the
belongings that he has in kind. Draw a set of indifference curves for Raja.

Please Turn Over
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Group - B

2. Answer any five questions of the following :

(a) What is market failure? Explain two main causes of market failure. 243
(b) State the factors affecting price elasticity of demand. 5
(c) Define marginal utility. How is it related to total utility? 2+3
(d) How can you determine price elasticity at a point on a straight line demand curve? 5
(e) Show how trade between two nations can make each country better-off. 5
(f) What are the factors which lead to the shift of the supply curve? 5
(g) How is the effect on total revenue due to price change related to elasticity of demand? S
(h) Explain the statement “the slope of a negatively sloped linear demand curve is constant, but the

elasticity is not”. 5

Group - C

Answer any three questions.

3. (a) Consider the following total utility schedule :

Quantity Consumed (0|12 |3 | 4156|7819
Total Utility 0811317120 (2223(23|22{20

(i) Draw the total utility schedule and derive the marginal utility schedule from it.

(i) If the marginal utility of money (K) is 0.5, plot the demand curve from marginal utility
schedule.

(iii) Find the equilibrium quantity demanded if the price of commodity is ¥ 4 per unit.

(b) Suppose Rahul always consumes 2 spoons of sugar with each cup of coffee. The price of coffee
is T 20 per cup and price of sugar is ¥ 5 per spoon. If Rahul has ¥ 600 to spend on coffee and sugar,
how much coffee and sugar would he like to purchase? With the help of budget line and indifference
curve show the optimal choice of Rahul in a diagram. 2+3+1)+2+2)

4. (a) Using supply and demand diagrams, show the effect of the following events on the equilibrium price
and quantity of personal computers :
(i) The price of computer chips falls.
(i) There is a rise in consumer income.
(iii) The price of computer software rises.
(iv) Universities require incoming freshmen to have their own personal computers.

(b) During summer both the pﬁce and quantity demanded of ceiling fans rise. Is it a case of exception
to the law of demand? Justify your answer. (2x4)+2
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5. (a) Two drivers — Ram and Shyam — each drive to a petrol pump. Before looking at the price, each
places an order.

Ram says “I would like 20 litres of petrol”.
Shyam says “I would like ¥ 2,000 worth of petrol”.

(i) What is each driver’s price elasticity of demand?
(i) Draw the demand curves of Ram and Shyam.
(b) You are the curator of a museum. The museum is running short of funds, so, you decide to increase

revenue. Should you increase or decrease the price of entry ticket? Explain. (3+2)+5

6 (a) India and Bangladesh both produce shirts and shoes. Suppose that an Indian worker can produce
10 shirts or 5 shoes per day. Suppose that a Bangladeshi worker can produce 8 shirts or 8 shoes
per day.

(1) Which country has the absolute advantage in the production of each good? Which country
has the comparative advantage?

(i) If India and Bangladesh decide to trade, which commodity will India trade to Bangladesh?
Explain.

(iii) If a Bangladeshi worker could produce 5 shirts per day, would Bangladesh still benefit from
trade? Explain.

(b) A machine can produce 4000 backpacks or 2000 bicycles in a month.
(i) Draw the production possibility frontier for an economy with 10 such machines.
(i) What is the opportunity cost of backpacks?
(iii) What is the opportunity cost of bicyéles‘? (24+2+2)+(2+1+1)

7. (a) Let there be two consumers in an economy whose demand curves are given by :

Consumer 1: Q; =20 — 2P

Consumer 2: Q, = 15 - P

Draw the individual demand curves and the market demand curve.

(b) The supply and demand for ice cream cones are described by the following equations :

QS = -30 + 38P

QP =90 - 2P

Q is the quantity of ice cream cones per day and P is the price per ice cream cone (in ).
(i) Graph the supply curve and demand curve.
(i) What is the equilibrium price and quantity? 5+(2Y+2Y%)

5
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ECONOMICS — HONOURS
Paper : SEC-1
[Introductory Statistics and Application (I)]
Full Marks : 75

The figures in the margin indicate Jull marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A

1. Answer any ten questions :

(a)

(b)

(c)
(d)

(€)

®

What should be the suitable diagram to represent the data in each case?
(i) The daily selling prices of gold in India in a particular week.
(i) The profit and losses of a business concern for a period of 10 years.
(i) Revenue and expenditure of the Central Government for a period of 5 years.

(iv) The total production cost and its components of a manufacturing firm in a particular year.
YatVot Yot

Find the relative frequency of the third class and frequency density of the second class for the
following distribution :

Height of students (in cm.) | 151-155 | 156-160 161-165 | 166-185
No. of students 5 10 15 15 2

The average monthly production of a certain factory for the first five months is 3585 units and
for the remaining seven months it is 2420 units. Calculate the average monthly production for the

year. 2
Two variables X and U are related as X = 1.5U + 2.5 and U has the mode 20; find the mode
of X. ' 2

(i) Find the median of 4, 53, 1,7.
(i) Find the median of 4,53,1, 70.

(iii) State what favourable property of the median is illustrated by comparing the answers to

(i) and (ii). 2
The lower and the upper quaﬁiles of a distribution are 14.6 and 25.2 respectively and the coefficient
of skewness is 0.5. Find the median of the distribution. 2

Please Turn Over
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(®

(h)

@

)

(k)

(m)

n)
(0)

A manufacturer of television tubes has two types of tubes, A and B. For types A and B mean
lifetimes are 1495 hours and 1875 hours respectively, and the standard deviations are 280 hours
and 310 hours respectively. Which tube has the greater relative dispersion? 2

Suppose that a variable X can take three values 30, 40 and 50. Find the third order central moment
of X. 2

The first two moments of a distribution about the value 2, are 1 and 16 respectively. Find the first
two moments about zero. 2

A distribution has a standard deviation of 2. For which value of the fourth central moment the
distribution will be mesokurtic? 2

In a two-variable model, show that the correlation coefficient and the regression coefticients must
be of the same sign. 2

For the variables X and Y, the regression lines were obtained as 3x + 2y — 25 =0 and
6x + y — 30 = 0. Identify the regression equation of ¥ on X 2

Suppose that in constructing the price index number for a certain year with a fixed base year we
take the simple arithmetic mean of the price relatives. Would this be a satisfactory index number?

Why? 2

What do you mean by a cost of living index number? 2

What do you mean by the Gini coefficient? 2
Group - B

Answer any five questions.

2. For the following frequency distribution, draw the histogram and find the number of students whose
heights lic between 158 cm and 168 cm. :

Height of students (in cm.) 151-155 | 156-160 } 161-165 | 166-185 -~
+
No. of students 5 0 | 15 | 1S
3. FEvaluate mode as a measure of central tendency. 5
4. A variable assumes the values 1, 2, ..., 7 with frequencies 12, 2%, ... , 72 respectively. Calculate the
arithmetic mean of the variable. 5
5. Examine how correlation coefficient is affected by a change of origin and scale. 5

6. The second moments about the mean of two distributions are 9 and 16, while the third moments about
the mean are — 8.1 and — 12.8 respectively. Which distribution is more skewed to the left? Give reason.

5

7. A variable takes only two distinct values a and b, each with equal frequency. Find the second, third,
and fourth central moments. 5



(3)

8. For the following data show that » = 0. Do you conclude that X and Y are uncorrelated? Why?

(z(astsm. )—Economics~H/SEC~I/CCF)

X|-3{-2-1{011]2)3

Y| 9|4 |1]0]114]9 3vatlatl
9. Laspeyres’, Paasche’s and Fisher’s price index numbers satisfy the time reversal test. — Is the
statement correct? Justify. 1+4

Group - C
Answer any three questions.

10. (a) For two positive values X;, X, of a variable X, prove that A.M. 2 GM. > H.M. Is this result true
for any number of observations?

(b) Find a suitable measure of central tendency for the following distribution justifying your choice.

Class-limits Frequency
51 -55 4
56 — 60 10
61 — 65 14
66 and above 2 (4+1D)+5

11. (a) Evaluate standard deviation as a measure of dispersion.

(b) In a factory the average daily wage of 50 workers was ¥ 500 with a standard deviation ¥ 40. Each
worker is given a raise of ¥ 50. Find the new average daily wage and standard deviation.
5+(2+3)
12. (a) Obtain the appropriate regression equation from the following data :
Expenditure on food in ¥ 600 750 550 1,050 1,100

Income in ¥ 800 1,200 600 2,000 2,500

(b) Show that if all people of a country have the same level of Income, then Theil’s inequality measure

will be zero.

6+4

13. The following table gives the various group indices and weights for 2020 with 2010 as the base year.

Group Food | Clothing | Fuel & Light | House rent | Miscellaneous
Index No. | 348.7 | 288.9 387.2 110.0 285.1
Weight 60 5 6 9 20

(a) Compute the cost of living index number for 2000 with 2010 as the base year.

(b) A worker was getting ¥ 5,000 for a job in 2010 and ¥ 9,500 in 2020. How much extra allowance
she ought to have received to maintain her 2010 standard of living? 5+5

Please Turn Over
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14. (a) What do you mean by skewness and kurtosis of a frequency distribution? How can those be
measured?

(b) In a distribution, the mean, médian and coefficient of variation are respectively 50, 53 and 20%.
Find the coefficient of skewness and interpret the resuit. (B+3)3+(3+1)
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Paper : MN-1
(Microeconomics - I)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.

AR Feyrel Ao [
et - =

S| @I 7IfE TR Ted e ¢ xd0
(F) @ LR Enfers widtafes e F e
(}) TfEre g3 FHufBsre wLafex Ay Fwsie s

() “FiE TEIGI W SRen Wi wF 2 w9 8w P— 93 e e (Positive) M e
(Normative), 52 <51 01 |

(F) e YT FE WG |

(8) TR &IfeT TeAm Te7Co F @RI 2

(5) TeAMA FIRA! (T G WS |

(®) Tl 3506 [ @I 2

(&) ifEnR AifEe a-FEfogsTer kel ws |
@) &R JLOF 16 I Trmd IR

(@) ¢35 T wLRfe7 w1z e |

©) <3 = efsrarfrentrs qremz gece F @02

() TR eFwha e

(©) Soraifrem Ffae qiz wifSare soge vfb sy S s |
(%) e SR e M8 |

() b Teotva STPHF AR 7S |

Please Turn Over




(z(15t Sm.)- Economics-HIMN-1/CCF) (2)

:

vl

1.

Remt -4
- #A5T5 ATHE e WS ¢
() &lifSs TATATHT e WS | 93 HCH A6 BT eI TR 2 3+
() vifEm oSS fEfesieors vige s | 8 gFel FIeid TR i Fafard Twel Fwa 2 3+
() wifewta 3@t Rge s | BRIz sjcas foafb wfee Stae s +0
(9) e e el me | WEers @Rig @l S e 3+
(8) @RI w3y FICE I 2 (PR 93 7R 7 A1 I3 | 3+
(5) TG (3 2 ATHS (G 1S e 7 o o g1 A 9% wferd v Fig AT o9 A6 @9
T3 e (7l (TR ? 25+
(®) TR T9RT B ARSY 3R SIRMITEIR 29 SRR Ay F | ¢
(@) effes R 20 G=ells Mo e (@ Waesss @@ @ [Reg e e | ¢
e - ot

-l foafe oTaa Tea e ¢
(@) vifEw @ @ @ @FANF qre-2fSTITe FeR S AN REifie =3¢ Hrag g ) s | 3F vifEme

3% q5, SR OIS VT =2 1+9
() vifenR me-REfeRrmed 3w wis | 9 FIECRT SRR @I s Fer vn-fRiogves sl
P b

() perrgETe e oglh Ko Sl | gEarEe ffRE $red N Ve (AT &Y FS (7S | b
(@) 7 7-RifE SLfRfTe @I Trrd M ¥R (@ord T O 39, (T G (@) FISIT SIPIT

oIS = 2 So
(&) ¢ CoIsim (1T SNk WIS | (R G TAMA (FNT 2foiRs a7 76 7oopef Fifegors a3z @3 o
ol SfEfSRAT (T @2 w0 3+8H(3+Y)

[ English Version ]

The figures in the margin indicate full marks.
Group - A

Answer any ten questions : 2x10
(a) What are the basic economic problems of an economy?

(b) Distinguish between microeconomics and macroeconomics.



(©)

(3) (Z(1st Sm.)-Economics-H/MN-1/CCF)

“India should reduce import duties for industrial development.”~ Comment with reasons whether
this statement is positive or normative.

(d) Define opportunity cost.
(e) What do you mean by marginal product of labour?
(f) Define Production Possibility Frontier.
(g) What do you mean by long run?
(h) Define cross-price elasticity of demand.
(i) Mention two reasons for the market failure.
() Define a mixed economy.
(k) What do you mean by a perfectly competitive market?
(1) What is a natural monopoly?
(m) Mention two differences between cardinal and ordinal approach to utility.
(n) Define Marginal Revenue.
(0) Define a production function.
Group - B
2. Answer any five questions :
(a) Define marginal utility. How is it related to total utility? ' 2+3
(b) Define income elasticity of demand. How does this concept help to determine the nature of the
good? ‘ 243
(c) State the Law of Demand. Mention three exceptions to the law of demand. 243
(d) Define indifference curve. What are the} properties of an indifference curve? 243
(e) What is a private good? Distinguish between private good and public good. 243
(f) What is a budget line? What is the slope of a budget line? What happens to the budget line if
money income falls but the prices of the goods remain same? 2+1+2
(g) Distinguish between movement along the demand curve and the shift of the demand curve. 5
(h) Show that the indifference curve is convex to the origin with the help of the concept of marginal
rate of substitution. : 5

Group - C

3. Answer any three questions :

(a)

(b)

How is equilibrium price determined through the interaction of demand and supply curve? Explain
with a diagram. What happens to the equilibrium price if there is an increase in demand? 7+3

Define price elasticity of demand. How can you determine price elasticity of demand at a point
along a straight line demand curve? 2+8

Please Turn Over
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(c) State the Law of Comparative Advantage. Illustrate the gains from trade derived from the Law
of Comparative Advantage. 2+8

(d) How does a consumer attain equilibrium in an economy with two commodities, where the money
income of the consumer and the prices of the commodities are fixed? 10

(e) Define a supply curve. What factors can influence supply? Draw a perfectly elastic and a
perfectly inelastic supply curve. 2+4+(2+2)
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ENTREPRENEURSHIP DEVELOPMENT — MDC
Paper : SEC-1
Full Marks : 75

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
Group- A
Answer any ten questions. 2x10

What do you mean by ‘Entrepreneur’?
State two types of entrepreneur.
What is Creativity?
Name any two successful women entrepreneurs of India.
Define Business Incubator.
What is Self-help groups?
Define ‘Technopreneur’.
What is feasibility study report?
Mention two significance of writing the business plan.
What is innovation? ]

Define ‘Project report’.

. Define ‘Small Enterprises’ as per MSME Act.
. What do you mean by ‘start-up’?
. State any two basic problems faced by ‘start-up’.

. What is Venture Capital Fund?

Group - B

Answer any five questions. 5%5

Briefly explain the elements of Entrepreneurship.
Discuss the functions of an Entrepreneur.
State the various advantages of Self-heip group.

Explain the role of Angel Investor in Entrepreneurship Development.
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20. Discuss the features of business idea.
21. Explain the concept of ‘creative process’.
22. State the need for marketing assistance in Entrepreneurship.

23. State the advantages of ‘Small Enterprise’.

Group-C

Answer any three questions.

24. Briefly explain the functions of ‘business incubators’ and ‘Private equity funds’ in entrepreneurship

development. 5+5
25. State the role and significance of family business in India. S5+5
26. Explain various elements of any project proposal. 10
27. Discuss the various internal and external sources of financing in entrepreneurship. 5+5

28. What is Micro Enterprises‘:? State its advantages and disadvantages. 2+4+4
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COST ACCOUNTING -1 — HONOURS

Paper : DSCC-2
Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.

Group - A

Answer any three questions. 5x3

1. Distinguish between Cost Centre and Cost Unit.

2. A cost centre in a factory furnished the following information :
Estimated annual overhead : ¥ 3,11,040

Estimated annual effective machine hours : 51840 machine hours

Actual results in respect of a 4 week period are :

Overhead incurred : ¥ 30,000

Machine hours operated : 4400 hours

Calculate the amount of under / over absorption of overhead.

3. For appropriate cost unit match the following :

Industry Cost Unit
(a) Cement (1) Cubic metre
(b) Gas (2) Per bed or Bed day
(c) Hospital (3) Passenger km.
(d) Road Transport carrying passengers (4) Units
(e) Brick (5) Tonne

4. Classify each of the following costs of the Maintenance Department based on their behaviour and also
find the total cost of that department at 80% capacity.

Cost items Cost at 50% Capacity () Cost at 70% Capacity ()
Repair & Maintenance 16,000 17,600
Consumables 12,000 16,800
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5. The Works Cost of a product is estimated at ¥ 80,000. Factory overhead is 1/3rd of Prime Cost and

125% of direct wages. Calculate the cost of materials for the product assuming that there is no
chargeable expenses.

Group - B

Answer any three questions.

6. From the following data, calculate Works Cost of the Jobs performed by Aloke and Subal : 10

Aloke Subal

Time Allowed (per 100 units) 40 Hours 42 Hours

Rate per hour % 80.00 % 120.00

Actual Time Taken 96 hours 140 hours

Actual Units Produced 300 units 400 units

Material Cost for the Job % 6,680 ¥ 10,200

Bonus Plan Halsey (50%) Rowan

Factory overhead 150% of wages 100% of wages.

7. The following transaction took place in respect of a raw material M-101 during the month of January,

2024 :

Date Particulars Kgs. Rate per kg. )
1 Balance 1000 9
6 Purchased 1500 8

10 Issued 1900 -

13 Shortage 100 -

19 Return from issue dated 10.01.2024 200 -

21 Purchased 900 10

26 Issued 1000 —

Prepare the Stores Ledger Account for material M-101 when the policy of the firm is to value unsold
stock at current price.

2+8
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8. Worker Vee is paid wages under piece rate system @ ¥ 20 per unit. During a week of 40 hours he

10.

produced 110 units. Standard production is 2 units per hour.

He is allowed an incentive based on efficiency as below :

Efficiency Bonus on piece wage
Up to 100% No bonus
Above 100% and up to 120% 10%
Above 120% Additional 2% of every completed 5%
efficiency over 120%.

Calculate total wages payable to Vee for the week both under Piece Rate and Hourly Rate System. Also
find out Effective Piece Rate and Effective Hourly Rate, if bonus is same under both the systems.

Write short notes on :
(a) Overtime Wages
(b) Sunk Cost

(c) Opportunity Cost.

6+4

4+3+3

Following information relate to Machine No. 505 of the workshop of Sen & Co. for the year ended

31.03.2024 :
Cost of the machine (scrap value ¥ 50,000) Life 10 years < 4,50,000
Supervisor’s salary (supervisor devotes Vath of his time to the machine) T 28,000 p.a
Rent of shop (Machine occupies 1/3rd of shop area) T 12,000 p.m
Electricity (light points used by machine 505 is 2 and by other machines 10) ¥ 3,000 p.m
Other factory overhead (Yth allocated to this machine) T 32,000 p.a.
Annual cost of insurance of the machine 2% of cost
Total machine hours available p.a. 4200 hours
Of the total machine hours, 150 machine hours were lost due to material
shortage and 200 machine hours were lost due to routine maintenance.
Cost of Power : 2 units per running hour @ ¥ 500 per 100 units.

Compute the Machine Hour Rate for Machine No. 505.

10
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11.

12.

Group - C

Answer any two questions.

From the following particulars prepare a Statement of Cost and Profit for the year ended on 31.03.2024

and ascertain the per unit selling price : 13+2
01.04.2023 31.03.2024
Raw Materials T 42,000 T 28,000
WIP T 36,800 T 42,000
Finished Goods (at cost of production) T 2,88,000 4 ?
(8000 units) (11000 units)

Other data for the year —

Raw materials purchased ¥ 2,70,000; Carriage inward ¥ 18,000; Raw materials destroyed by fire ¥ 12,000
(Insurance claim received T 7,000); Productive Wages ¥1,40,000; Chargeable expenses
¥ 70,000; Factory expenses T 1,20,000 (including depreciation on factory machinery of ¥ 20,000);
Administration Overhead ¥ 80,000; Selling expenses T 4 per unit and Distribution Overhead ¥ 52,870.

During the year 17000 units were sold at 30% profit on Sales.
Use FIFO method for valuation of finished goods.

A company has three production departments A, B, C and two service departments D and E. The
following figures are extracted from the records of the company :

4

Rent and Rates 10,000
General lighting 1,200
Indirect Wages 13,000
Power 3,000
Depreciation of Machinery 20,000
Sundries 10,000
The following further details are available :

A B C D E
Floor space (sq. metre) 2000 2500 3000 2000 500
Light points (Nos.) 100 150 200 100 50
Direct wages (3) 6,000 4,000 6,000 3,000 1,000
H.P. of machines 60 30 50 10 -
Value of machinery () 1,20,000 1,60,000 2,00,000 10,000 10,000

Working hours 3,113 2,014 2,033 - —



13.
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The expenses of D and E are allocated as follows :

(@)
(®)

(®)

A B C D E
D 20% 30% 40% - 10%
E 40% 20% 30% 10% -

Determine the Overhead rate per hour.
What is the total cost of an article, if its raw material cost is ¥ 150, labour cost is T 130 and it passes
through Departments A, B and C for 5, 6 and 8 hours respectively? 12+3

The Cost Accountant of Y Ltd. has computed labour turnover rates for the month ended 3 1st March,
2024 as 10%, 5% and 3% respectively under ‘Flux Method’, ‘Replacement Method’ and ‘Separation
Method’.

If the number of workers replaced during that month is 60, find out the number of :
(i) Workers were recruited and joined
(i) Number of workers were separated.

What do you mean by ‘Perpetual Inventory System’? 5+5+5
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INFORMATION TECHNOLOGY AND ITS APPLICATION
IN BUSINESS — HONOURS

Paper : SEC-2
Full Marks : 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A
1. Answer any tern questions : 2x10
(a) What is Free and Open Source Software?
(b) State any two applications of Blockchain in Cybersecurity. RS
(c) Define the term Machine Learning.
(d) What is meant by Cloud Computing?
(e) State the meaning of Virtual Memory in computer operating system.
(f) Provide any four examples of popular ERP systems used by organisations.
(g) What do you mean by Internet Protocol Address?
(h) Mention any two features of OLAP.
(i) What is CAPTCHA codes?
(j) As per the Information Technology Act, what is meant by ‘Electronic Signature’?
(k) Define Cyber Espionage.
() Give any two applications of Edge Computing.
(m) Provide two examples of system software.
(n) What is Green Computing?
(0) Random Access Memory (RAM)is __ in nature (Fill in the blank).
Group -B
Answer any four questions. 5x%4

2. In what ways do retailers use RFID technology for inventory management? Briefly explain with
appropriate examples.

3. What are the privacy and security challenges associated with the increasing amount of sensitive
information in Big Data?

Please Turn Over
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4.

5.

Briefly discuss the concept of hacking in the context of cybercrime.

How can excessive computer and internet use negatively impact on individuals?
Write a short note on Data Mining.

Briefly discuss the practical applications of IoT.

Group-C

Answer any one question. 10x1
Briefly explain the basic steps involved in the CPU operation cycle.

Describe applications of computer in the context of Business and Finance.
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MARKETING MANAGEMENT AND HUMAN RESOURCE
MANAGEMENT — MINOR

Paper : MN-2
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.

Marketing Management
Group - A

Answer any five questions. 2x5
1. Write any two elements of Marketing Mix.
2. What is Demographic Segmentation?
3. Define Branding.
4. State any two objectives of Pricing.
5. What is Online Marketing? |
6. Mention any two importance of Product Mix.
7. Give an idea of Consumerism.
8. Define Societal Marketing.

Group - B

Answer any four questions. 5%4
9. Briefly discuss the macro-components of marketing environment.
10. Briefly explain geographic market segmentation.
11. State the significance of Packaging.
12. Which factors are to be considered while determining the price of a product?
13. Write a short note on Green Marketing.

14. Briefly explain the different steps of New Product Development.
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15.

16.

17.
18.
19.
20.
21.
22.
23.
24.

25.
26.
27.
28.
29.

30.
31.

Group - C

Answer any one question. 10x1
Explain the different stages of Product Life Cycle.

Discuss the different elements of Promotion.
Human Resource Management

Group - A

Answer any five questions. 2x%5
Define Human Resource Management.
Write any two needs for Human Resource Planning.
What is Recruitment Policy?
What is meant by Job Analysis?
State any two objectives of Job evaluation.
What is on-the-Job method of training?
Define Selection.
What is Performance Appraisal?

Group -B

Answer any three questions. 5%3
Briefly explain the functions of Human Resource Management.
State the major factors which influence Human Resource Planning.
Explain the importance of recruitment.
State the benefits of training.
Discuss any two methods of Job Evaluation.

Group - C
Answer any one question. 10x1

‘Job analysis includes Job description and Job specification.” — Explain.

Discuss the various off-the-job methods of training.
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FINANCIAL ACCOUNTING - I — HONOURS
Paper : DSCC-1
Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A
1. Mention any five qualitative characteristics of accounting information. 5
Or,
Name the accounting concepts and conventions which are applicable in each of the following cases :
1x5
(i) Inventories are valued at cost or net realisable value, whichever is lower.
@iy Recording of capital invested by the proprietor in the business.
(iii) Outstanding Expenses are shown in the Balance Sheet.
(iv) Cost of goods sold is deducted from revenue for calculating profit.
(v) Assets are recorded in the books of accounts at a value at which these are purchased.

2. (a) Using Accounting Equation, find the balance of Assets :
Expenses ¥ 1,40,000, Liabilities ¥ 85,000, Revenue T 1,86,000 and Capital T 2,09,000.

(b) State, with reason, whether the following are capital, capitalised expenditure or revenue expenditure.

(i) Import duty paid on purchase of raw materials.
(i) Repair expenses incurred for a second hand machine to improve its efficiency.

(iii) Legal expenses paid to acquire a building. 243
Or,
What do you mean by expenses? Differentiate between ‘expense’ and ‘expenditure’. 2+3

3. From the following particulars, calculate profit under Accrual Basis of accounting for the year ended
31.03.2023 : 5

Profit under Cash Basis ¥ 92,000
Outstanding salaries on 01.04.2022 T 7,000
Outstanding salaries on 31.03.2023 ¥ 5,000
Depreciation T 12,000
Bad Debt written off ¥ 3,000
g

Pre-received rent on building let out 5,000
Please Turn Over
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Group - B

4. On April 01, 2020, Priya & Co. purchased a machine for  3,00,000 and spent ¥ 60,000 on its installation.
On October 01, 2021, a new machine was purchased at a cost of ¥ 2,40,000. On June 30, 2022, the first
machine got damaged and was sold as scrap for ¥ 2,34,310. On July 01, 2022 a new machine was |
purchased for ¥ 5,20,000 and a sum of T 80,000 was spent on its installation.

Show Machinery Account for the three years ended March 31, 2023 while charging depreciation
@ 10% p.a. as per the diminishing balance method. Accounts of Priya & Co. are closed every year on

March 31. Working should form part of your answer. 10 1
Or,

KL Bros. maintains provision for doubtful debt @ 20% of debtors. On 01.04.2022, the balance of §
Provision for Doubtful Debts was ¥ 32,000.

Bad debt written off during the year 2022-2023 T 8,000
On 31.03.2023, the debtors balance stood at ¥ 1,60,000

On scrutiny, it is observed that —
e Recovery of bad debt written off earlier ¥ 5,000, credited to debtors account.
e A debt of Z 3,000 is no longer receivable and hence, decided to write off the same.

e Bills receivable as received from customer, Mr. Z, ¥ 8,000 discounted with the bank, no
dishonoured, entry for dishonour not yet made.
e An amount of T 17,000 is receivable from Mr. D, a customer and also T 12,000 is payable to him
for supply of goods to KL Bros. '/
Considering the smaller amount of bad debt during this year, the firm has decided to maintain provisiorix
for bad debt @ 4% from this year apart from 50% provision against the amount due from Mr. Z due to
bills dishonoured. 5
You are required to prepare the Bad Debt Account and Provision for Doubtful Debt Account in the
books of KL Bros. (workings should form part of your answer) 10

5. The Trial Balance of M/s Tirupati Builders & Co. does not agree as on 31st March, 2023. The debi
exceeds credit by ¥ 3,500 and the difference has been put to a Suspense Account. The following errors|
were detected on scrutiny of the books of accounts. Rectify the errors so detected by passing necessary|
journal entries (you need not write narration) and prepare a Suspense Account. (2x4)+2,

(i) Sold goods to Rahul for X 10,000 wrongly passed through Sales Return Book. Rahul Account has,
however, correctly been debited in the Sales Ledger. |

(i) Wages of ¥ 15,000 paid for installation of machinery debited to Wages Account as T 1,500.
(iii) Total of Discount Allowed column for Z 3,000 in the Cash Book has not been posted in Discount
Allowed Accopnt in the General Ledger.

(iv) Personal income tax of ¥ 5,000 of the proprietor of M/s Tirupati Builders & Co. has been debited
to Income Tax Account.




(3)
Or,

@(zst Sm. )-FinancialAccounting-I——H/DSCC—l/CCIfj

(a) Specify three objectives of valuation of inventory.

(b) FB Stores deals with four products which are different. You are supplied with the following
information relating to those products :

Particulars Product K | Product L | Product M | Product N
Cost of unsold goods % 6,400 312,600 ¥ 8,200 ¥ 7,000
Market value of unsold goods ¥ 7,000 < 15,000 9,000 T 6,900
Commission payable on sales 5% 10% nil nil
Expected expenses to be incurred to sell - ¥ 1,000 T 800 3200
Calculate the value of inventory. 3+7

6. From the following information, prepare the Debtors’ Ledger Adjustment Account and Creditors’ Ledger

Adjustment Account as they would appear in the General Ledger of Vartika Ltd. : 5+5
4 k4

Opening Debtors (Dr.) 25,250 Opening Creditors (Cr.) 14,000
Opening Debtors (Cr.) 2,000 Closing Creditors (Dr.) 2,000
Credit Sales 20,000 Discount Received 250
Credit Purchases 10,000 Bills Dishonoured 500
Discount Allowed 750 Transfer from Debtors’ Ledger 1,000
Received from Debtors 10,000 to Creditors’ Ledger

Payment to Creditors 8,000 Bills Payable accepted 4,000
Bad Debts 2,000 Allowances to customers 500
Cash paid to debtors to clear 2,000 Bills drawn on Debtors 1,000

credit balances.

Please Turn Over
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Group - C

7. Following is the Trial Balance of M/s Aparna & Co. as at 31st March, 2023 :

Debit Balances Amount (<) Credit Balances Amount )

3,40,000
3,832,900

20,000
2,20,000
2,36,000

10,000

10,000

14,000

4,000
8,000
8,000
3,000

32,000
430,000

20,000

50,000

54,000

25,000

Drawings Capital

Office Equipments Sales

Purchases Returns

Carriage Inward Discount Received
Bad Debts

Carriage Outward

Creditors

Bills Payable

Bank Overdraft

10% Loan (taken on 01.04.2022)

Discount Allowed

Sales Commission

Rent

Interest on loan
Office Expenses
Sundry Debtors
Bills Receivable
Investments
Opening stock
Cash
Bank

Additional Information :
(i) Stock at Net Realisable Value is % 55,000. However, Cost Price of the stock is ¥ 60,000.
(ii) Provide for depreciation on Office Equipment @ 10% p.a.

4,04,000
1
24,000
60,000

8,000
2,000

1,200

(iti)y Goods costing Z 10,000 was destroyed by fire on 15.03.2023. Insurance company, however, admitted

a claim on 25.03.2023 to the extent of 60% only and paid the claim on 10.04.2023.

(iv) Sales include goods sent on approval for % 6,000 on 25th March, 2023. Till 31.03.2023 approval for
sale of goods has not been received from the customers. Goods are sent at a price of 1/5th profit

on cost. These were recorded as actual sales.
(v) Prepaid Rent - 7 1,000 and Outstanding Office Expenses - Z 2,000.

(vi) Make provision for interest on Loan for full year.

You are required to prepare a Trading and Profit & Loss Account for the year ended 31st March, 2023

and a Balance Sheet as on that date.

15
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8. (a) The following information has been extracted from the books of Mr. Mukherjee

31.03.2022 | 31.03.2023
®) ®)

Particulars

Stock
Sundry Debtors
Sundry Creditors

During the year 2022-23 the following transactions took place :

(i) Amount received from Debtors I 33,500 (after allowing a discount of ¥ 1,500).

(i) Bad debt written off T 2,000.

(iii) Discount allowed by Creditors X 2,500.

(iv) The business maintains a steady rate of profit @ 25% on cost.

(v) The Cash purchases are 15% of Total Purchases and Cash Sales are 20% of Total Sales.
You are required to determine the amount paid to creditors during 2022-23.

(b) Mention any two points of differences between ‘Statement of Affairs’ and ‘Balance Sheet’.
11+4
Or,

From the following Receipts and Payments Account of Go-Green Sports Society for the year ended
31.03.2023 and additional information, prepare an Income and Expenditure Account for the year ended

31.03.2023 and a Balance Sheet as on that date : :

Secretary’s Salary 16,000
Salaries to Staff
Charities

Printing and Stationery

Receipts

Opening Cash in hand and
at Bank

Subscription

Sale of Old Newspapers

Entrance Fees Postage Expenses

Rates and Taxes

Upkeep of the land

Purchase of Sports materials

Proceeds of Sports and

Concerts

Telephone expenses

Please Turn Over
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Assets and Liabilities as on 31.03.2022 and 31.03.2023 were as follows :

1—? 31.03.2022 | 31.03.2023
) ®)
Arrear Subscription 8,000 4,000
Subscription received in advance 2,000 1,600
Furniture (after depreciation) 4,000 3,600
Land 40,000 40,000
Butstanding Salaries to Staff 4,000 3,000

Depreciation on Furniture has been charged at 10% p.a. Entrance fees received shall be capitalized.
Sports Materials are to be completely written off. 15

P
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2023

FINANCIAL ACCOUNTING - I — MDC
Paper : MDC-1
Full Marks : 75

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
Group - A
1. Name any five users of accounting information. 5
Or,

Name the accounting concepts and conventions which are applicable in each of the following cases :
1x5

(i) A business is considered as an artificial person separate from its owner.
(i) Unsold stocks are valued at cost or net realisable value, whichever is lower.
(iii) Only monetary transactions are recorded in the books of accounts.
(iv) Financial Statements are prepared at the end of each accounting year.
(v) Every transaction has two aspects. '
2. Name the subsidiary books of original entry, where the following transactions are recorded. You may
assume that the trader is engaged in the business of ready-made garments. 1%5
(i) Goods purchased for ¥ 20,000 from Hrishikesh by cheque.
(i) Sold goods to Hiran for ¥ 35,000 on credit.
(i) Goods returned by Hiran ¥ 2,500.
(iv) A bill of T 32,500 drawn on Hiran.
(v) Furniture worth ¥ 40,000 purchased on credit from Steel & Co.

Or,
Fill in the blanks picking up the correct one from the bracket : 1x5
(i) Amount spent for repairing of Machineryisa . (Capital/Revenue Expenditure).
(i) Registration costs incurrs:d for acquiring a buildingisa________ (Capital/Revenue Expenditure).
(iii) Wages paid for installation of Machineisa _._._.____ (Capital/Revenue Expenditure).
(iv) Salary paid to employeesisa . (Capital/Revenue Expenditure).
(v) Premium money paid for insuring stockisa _____ (Capital/Revenue Expenditure).

Please Turn Over
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3. From the following information, ascertain profit for the year ended 31.03.2023 under accrual basis’

accounting :
Income received in cash during the year 2022-23 T 1,02,000
Accrued income as on 31.03.2023 3 32,000
Pre-received income as on 31.03.2023 3 12,000
Expenses paid during the year 2022-23 3 72,000
Outstanding expenses as on 31.03.2023 T 5,000

Group - B

4. On 01.04.2021, Sen & Co. purchased 3 machines at a cost of 2 1,10,000 each. Charges for installa‘[ioﬁé
and carriage inward amounted to ¥ 10,000 per machine. The scrap value of each of the machines i
estimated to be ¥ 20,000 after § years.

On 01.10.2021, it purchased another machine for ¥ 90,000. The life of the machine is estimated to bg
4 years with scrap value ¥ 10,000. ‘

On 31.12.2022, one of the 3 machines purchased on 01.04.2021 was damaged due to an accident an
scrap sold for ¥ 23,000. |

Prepare Machinery Account for the years 2021-22 and 2022-23.

Or,
(a) State two points of difference between Bad Debt and Provision for Doubtful Debt.
(b) Trial Balance as on 31.03.2023 of Saha Bros. includes the following items :

Provision for Doubtful Debt (01.04.2022) T 25,000
Bad Debt , T 10,000
Sundry Debtors T 1,43,000

The entity, on scrutiny, found that Z 13,000 receivable from Mr. Himmat is irrecoverable and so.
decided to write it off as bad. : ‘

Prepare Bad Debt Account and Provision for Doubtful Debt Account for the year 2022-23 in the books
of Saha Bros. Provision for doubtfu] debt is to be created at 8% of Debtors. 4+6
5. The following errors were detected after preparation of the Trial Balance. Show journal entries to |
rectify the errors. 10
(i) Sales Day Book overcast by ¥ 469.
(i) An amount of ¥ 55 received from C. Adhikery was posted to his account as ¥ 550,

(iii) A payment of ¥ 9,500 towards cost of stamps for registration of new land debited to Legal Charges :
Account, ;

(iv) Cash paid to Sujay Barman for ¥ 10,000 wrongly debited to Sujay Bardhan as ¥ 1,000,
(v) Discount allowed ¥ 500 to Mr. X credited to Discount Received Account.
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Or,
(a) From the following information, calculate the value of closing inventory on 31st March, 2023, using
FIFO method :
Date Particulars
March 01, 2023 Opening Stock : 200 kg @ ¥ 10 per kg
March 06, 2023 Purchase : 1,200 kg @ X 11 per kg
March 15, 2023 Issued : 900 kg
March 21, 2023 Purchase : 1,600 kg @ T 12 per kg
March 28, 2023 Issued : 1,300 kg

(b) A trader closed his books on December 31st, 2022. Stock was, however, taken on January 7, 2023
and the value of stock taken was ¥ 51,200. Find the value of stock as on 31st December, 2022
from the following information :

(i) Goods purchased and received during the period 01.01.2023 to 07.01.2023 amounting to

¥ 5,000
(il) Goods sold and despatched during the period 01.01.2023 to 07.01.2023 amounted to ¥ 7,600;
(iii) Rate of gross profit @ 25% on sales. _ 6+4
6. From the following information, prepare the Debtors’ Ledger Adjustment Account and Creditors’ Ledger
Adjustment Account as they would appear in the General Ledger of Clarion Ltd. : 10
T Z
Opening Debtors (Dr.) 66,000 Opening Creditors (Cr.) 28,000
Total sales 44,000 Discount Received 500
(including cash sales ¥ 4,000) Bills Dishonoured 1,000
Total Purchases 22,000 Payment to Creditors 16,000
(including cash purchase ¥ 2,000) Transfer from Creditors 2,000
Discount Allowed 1,500 Ledger to Debtors Ledger
Received from Debtors 20,000 Closing Creditors (Dr.) ' 1,000
Bills Payable accepted 8,000
Bad Debts 2,000

Please Turn Over
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(4)

Group - C

7. From the Trial Balance of Datta Bros. as on 31.03.2023, you are required to prepare Trading and Prof

& Loss account for the year ended 31.03.2023 and a Balance Sheet as on the date after makin

necessary adjustments. 1
Particulars Dr. (}) Particulars Cr. ®
Purchases 1,20,000 | Sales 2,00,000
Debtors 60,800 | Creditors 48,800
Return Inward 4,000 | Discount Received 1,200
Discount Allowed 4,000 | Return Outward 4,800
Building 90,400 | Capital 1,22,400
Depreciation on Building 4,000 | Profit on sale of asset 4,800
Income Tax 4,000 | Provision for doubtful debts 4,000
Wages 8,000 | Commmission 3,200
Salaries 12,000
Stock in Trade (01.04.2022) 40,000
Trade Expenses 8,000
Insurance 800
Cash in hand 33,200
3,89,200 3,89,200

Adjustment :

(i) Stock in trade on 31.03.2023 : ¥ 40,000.

(i) Stock valued at ¥ 8,000 was destroyed by fire on 15.03.2023 for which insurance company admitte
a claim of ¥ 4,800. Nothing has been recorded in the books. ‘

(iii) Out of Purchased goods, T 8,000 was distributed as {ree sample.

(iv) Maintain provision for doubtful debts @ 5% on Debtors and provision for discount @ 2% o

Debtors.
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8. The following is the Receipts and Payments Account of North Calcutta Club for the year ended

31.12.2022 :
Receipts and Payments Account
Receipts Amount (3) Payments Amount (%)
To Balance b/d By Salaries 18,500
Cash in hand 8,500 By General Expenses 10,000
Cash at Bank 10,000 By Audit Fees 2,500
18,500 By Printing & Stationery 6,000
To Subscription 39,000 By Interest & Bank Charges 3,000
To Entrance Fees 10,500 By Rent 3,500
To Donations 12,000 By Periodicals & Newspapers 4,000
To Sale of Periodicals 500 By Electricity Expenses 2,500
By Balance c/d

Cash in hand 6,000

Cash at Bank 24,500
30,500
80,500 v 80,500

Additional Information :
(i) Salaries Outstanding on 31.12.2022 : ¥ 2,500
(i) Subscription Outstanding on 31.12.2022 : ¥ 3,500
(iii) Assets and Liabilities as on 01.01.2022 were as follows ~
Assets :
Furniture — ¥ 12,500; Sports Equipments — ¥ 10,000; Subscription Outstanding — ¥ 4,000.
Liabilities : Outstanding Rent — ¥ 500
(iv) Depreciate Furniture and Sports Equipments by 10% p.a.

(v) Donations and Entrance Fees are to be transferred to Income & Expenditure A/c.
Prepare (i) An Income & Expenditure A/c for the year ended 31.12.2022; and _
(i) A Balance Sheet as on that date. 10+5
Or,

Mr. Soumik does not maintain his books of accounts under double entry system. The following details
are obtained from his books of accounts. (Figures in %)

Yearended | Furniture | Debtors | Creditors | Cash | Stock
01.01.2022 | 25,000 | 15,000 10,000 | 42,300 | 16,000
31.12.2022 | 22,500 ? 12,000 | 40,800 | 14,000

Please Turn Over
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Transactions during the year :

) ®
Goods purchased in cash 12,000 | Received from debtors 70,000
Total sales during the year 1,14,300 | Payment to creditors 42,500
Cash sales 17,900 | Cash withdrawn for personal use 2,400
Expenses paid 32,500

Mr. Soumik wants to maintain Provision for doubtful debts @ 5% on closing debtors.
Prepare (i) A Trading and Profit & Loss Account for the year ended 31.12.2022; and
(i) A Balance Sheet as on that date.

JE——————

15
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2024

COST ACCOUNTING -1 — MDC
Paper : MDC-2
Full Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A

Answer any three questions.
1. State the objectives of cost accounting. 5

2. State the cost unit used in the following industries : 5
(i) Transport
(i) Power
(i) Hospital
(iv) Sugar

(v) Cement.

3. A firm requires 16000 units of Product-A in a year. Cost price of Product-A is T 60 per unit. The cost
of placing an order and following it up is ¥ 120 and the annual storage charges works out to be 10%
of the cost of the component. Calculate Economic Order Quantity (EOQ). 5

4. Distinguish between Time Keeping and Time Booking. 5

5. Units produced and overheads incurred during two periods were as follows :

Month Units Overheads
June 40,000 T 1,20,000
July 44,000 % 1,26,000

From the above information, you are required to calculate :
(a) Total Fixed Overhead.
(b) Variable Overhead per unit. 2+3

Please Turn Over
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Group -B

Answer any three questions.

6. The following are the receipts and issues from stores of Material-P in a manufacturing concern :

2023
July

1
2

10
12
15
17
25
29
30

Opening stock 100 units at ¥ 10 per unit.

Issued 25 units to Department A.

Received 425 units at ¥ 11 per unit.

Issued 200 units to Department B.

Returned to stores 10 units from Department A.

Returned to vendor 20 units out of the quantity received on 7th.
Received 110 units at ¥ 12.50 per unit.

Received 100 units at ¥ 10 per unit.

Issued 200 units to Department B.

Received 100 units at ¥ 11 per unit.

Enter the above transactions in the Stores Ledger Account of Material-P, using FIFO method.

10

7. A worker takes 80 hours to do a job for which the time allowed is 100 hours. His daily rate is T 25.00
per hour. Calculate the works cost of the job under the following methods of payment of wages :

5+5

(a) Halsey plan (50%)
(b) Rowan plan.

Additional information :
Material cost ¥ 1200;
Factory overhead 125% of wages.

8. (a) Define Normal Idle Time. Explain with examples.
(b) Define and illustrate Abnormal Idle Time. 5+5

9. (a) What do you mean by over and under-absorption of overhead?

(b) Discuss the treatment of over and under-absorption of overhead in Cost Accounts. 6+4



10.

11.
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A company has two production departments and one service department. It furnishes the following
particulars :

g
Power 10,000
Lighting 8,000
Rent & Rates 40,000
Indirect Wages 20,000
Sundries 50,000
Depreciation on Machinery 60,000

The other particulars are given here under :

Production Dept.-I  Production Dept.-II ~ Service Dept.

Working Hours 4000 3500 3600
Direct Wages (%) 30,000 26,000 30,000
Cost of Machinery (%) 2,50,000 2,00,000 1,50,000
Horse Power of Machinery 50 30 10
Light Points (Nos.) 36 24 20
Floor Space (sq. metre) 1000 1200 800

The expenses of the service departments are to be allocated between production departments I
and II in the ratio of 3 : 2.

Apportion the costs to the various departments on the most suitable basis and determine the total
overhead of each production department. 10
Group-C
Answer any two questions.

The following are the particulars of 3 machines used in a factory for a six-week period with 160 working
hours :

Machine-I Machine-II Machine-III
Cost of machine (%) 1,00,000 1,50,000 2,00,000
Number of workers 20 50 100
Direct Wages (%) 3,000 8,000 12,000
Power () 450 800 1,500
Light Points 20 40 60
Area Occupied (sq. metres) 100 250 400
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The expenses incurred during the period were as follows :

Power T 2,750
Lighting T 480
Rent and Rates T 4,500
Depreciation T 13,500
Repairs T 18,000
Indirect wages T 4,600
Canteen expenses T 510
Sundries T 3,000
Compute the machine-hour rate for each machine. 15

12. From the following information given by personnel department of a Company, calculate labour turnover
rate by applying 5+5+5

(i) Separation method
(i) Replacement Method
(i) Flux Method.
Number of workers on pay-roll :
At the beginning of the month 1800
At the end of the month 2200

During the month, 20 workers left the job on their own and 80 workers were discharged from duty.
During the same month 300 workers were employed including 250 workers employed for an
expansion scheme.
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13. From the cost ledger of T.K. Sons & Co., the following information was obtained for the year 2023 :

54
Opening Stock of Raw Materials 2,00,000
Closing Stock of Raw Materials 3,00,000
Raw Materials purchased during the year 19,00,000
Factory Wages 12,00,000
Rates and taxes for factory premises 28,000
Lighting of the factory 52,000
Depreciation on plant 70,000
Staff salaries 2,40,000
Management salaries 1,20,000
Power 90,000
Indirect wages 2,45,000
Repairs and maintenance of plant 2,00,000
Cost of rectification of defective work 32,000
Consumable stores 1,50,000
Selling expenses 1,46,600
General expenses 92,000

Production was 100000 units. The net selling price was ¥ 47.00 per unit. All the units were sold.
Prepare a statement showing

(a) Prime cost

(b) Works cost

(¢) Cost of sales

(d) Profit for the year 2023. 15
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PRINCIPLES AND PRACTICE OF MANAGEMENT — MDC
Paper : MN-1
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.

QIFARS SRypafe 99T
S @I PIE AT Ted e 3 x50
() TIFRF RS 7S |
() T e

(o) ST IR TF BAE (& ARe?
(F) FRANSTH A 7S |

(8) oY e

) TR e we |

(® SWOT-93 75 Fro7 Braid I |

() PraTe alxeix ket wis |

@) TR e 29w e mmﬂa@mavgm
() FYG Toft Fie

(G) ‘Esprit-de-corps’ A&l W8 |

(9) TRTmm T=10e B @I

(®) “ITOIfEs (FoeTa oI e

(F) RIS AR Jee whe |

() STeFeN AT (@R 2

R F-IAT Ale AT TS WS ¢ ext
(%) T I R Ko F |
(4) THOIET gy «R STl (T T AL I |
(o) frvetel am B ey g g S s

Please Turn Over




(Y (1st Sm.)-Principles and Prac. etc.-MDC/MN-1/ CCIﬂ (2)

9l

(F) JIEANT g I I

(8) I AN WG FeTCe (@2

(5) TIIRATI -1 s et Mfowfer S wc |
(®) Prae sereR wweg 3@ T

(&) IR AR @I @ Gomia Tzl e

F-(I foqf5 2vea Tea e ¢

(@) T o wriaR S s | @R FRAReET @GR A S S|
(2) T Rion Taeie 2femetm e Ol @

(of) IR YPTCIR TR T OGo 1! FC! |

(%) IR TR 3] A |

(8) (FIETI AT O ST S |

[ English Version ]

The figures in the margin indicate full marks.

. Answer any fen questions :

(a) Define management.

(b) What is Co-ordination?

(¢) Who is known as the father of scientific ___management?
(d) Define organisation. }

(e) What is leadership?

(f) Define control.

(g) Mention the full form of SWOT.

(h) Define decision making.

(i) Mention the first and last step of management process.
() What is delegation of authority?

(k) Define ‘Esprit-de-corps’.

() What is meant by directing?

(m) What is democratic style of leadership?

(n) Define strategic planning.

(0) What is meant by motivation?
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2. Answer any five questions : 5%5
(a) State the functions of top-level of management.
(b) Distinguish between autocratic leadership and democratic leadership.
(c) Mention the different managerial roles identified by Mintzberg.
(d) Explain the importance of management.
(e) What is meant by social responsibility of management?
(f) Mention any five general principles of management.
(g) Describe the importance of decision making.

(h) What are the factors determining span of management?

3. Answer any three questions :

(a) Mention the different functions of management. Discuss any two of these functions. 3+7
(b) Write a note on the different managerial tools of control. 10
(c) Explain Abraham Maslow’s Hierarchy of Needs Theory. ' 10
(d) Describe the principles of co-ordination. 10

(e) Discuss Fayol’s Principles of Management. 10
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The figures in the margin indicate full marks.

1. Answer any ten questions : 2x10
(a) Mention the levels of management.
(b) Define planning.
(¢) What is span of management?
(d) Mention any two theories of motivation.
(e) Define control.
(f) Who formulated Managerial Grid theory?
(g) Define leadership.
(h) What is meant by co-ordination?
(i) Which management thinker is related with the development of Theory X and Theory Y?
() Define motivation.
(k) What is departmentation?
(I) Which theory assumes that people are naturally lazy and will avoid work and responsibility, if possible?
(m) What is delegation of authority?
(n) What is meant by division of work?

(0) Define directing.



(3) (Y(lst Sm.)-Principles and Prac. etc.-H/MN-1/ CCF}

2. Answer any five questions : 5x§
(a) Mention the principles of scientific management.
(b) What is social responsibility of management?
(c) Briefly discuss the importance of delegation of authority.
(d) Briefly discuss Mintzberg’s managerial roles.
(e) Briefly explain Fiedler’s theory of leadership.
(f) What is SWOT analysis?
(g) Why is leadership important?

(h) Discuss the elements of direction, in brief,

3. Answer any three questions :

(a) Explain any one theory of motivation. 10
(b) Discuss any four functions of management. 10
(¢) ‘Co-ordination is the essence of management.’— Comment. 10
(d) Discuss the different managerial tools of control. 5+5

(e) Mention the different steps in the organising process. 10
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Answer question nos. 1, 2, 3, 4 (compulsory) and any four from the rest (question nos. 5 to 10).

1. Answer any ten questions : 2x10

(a) Compare ionization potential of nitrogen and oxygen.

(b) Calculate the double bond equivalent (DBE) of the molecule having molecular formula C 4H;CL
(c) What are state function and path function?




(d

(e)

(f
(g)
(h)

)
(k)
®

(5) (z(151 Sm.)- Chemistry-H/MN-1/CCF)

KI+ TlI; mixture at —10°C is allowed to attain room temperature to form KTIl,. Determine the
oxidation state of Tl before and after the reaction.

Compare the stability of the following alkenes with explanation :
1-Butene and 2-Butene.

State two characteristics of zero order reaction.

Compare the electron affinity of fluorine and chlorine.

Write the IUPAC nomenclature of the following molecules :

() H,C=CH-CH,-C=C-H
(i) H;C-CH=CH-CH-CH;4
on
Identify as an intensive or extensive variable from the following :
Specific heat, heat capacity, density and volume.
State de Broglie Hypothesis and write its mathematical form.
Compare the boiling points of n-pentane and 2-methylbutane with explanation.

For a reaction between A and B, the order with respect to A is 1 and the order with respect to
B is 2. If the concentrations of both A and B are doubled, then in what factor the rate will
increase?

2. Write short note on :

(a) Inert pair effect using the following points :

. (b)

(i) Definition.
(i) Examples (any two).
(iii) Applications (any two). 14242
Or
Slater’s rules using the following points :
(i) For s and p electrons.

(i) For d electrons. 2442V

3. Write short notes on :

(a)

‘Resonance’ and ‘Resonance energy’ using the following points :

(i) Definition of resonance.
(i) Examples of resonance in organic molecules (at least two).
(iii) Definition of resonance energy.

(iv) Significance of resonance energy. 1424141

Please Turn Over
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(b)

(b)

(b)

(c)

(b)

(©

7. (a)
(b)

Or
Hyperconjugation using the following points :
(i) Definition of hyperconjugation.
(i) Examples of hyperconjugation (ar least nvo).

(i) Hyperconjugation related to the stability of the molecule. 1+2+2

Prove that for an adiabatic reversible process involving an ideal gas PV 7

. ) = constant, where the
terms have their usual meanings.

5
Or
Write a short note on Arrhenius equation using the following points :

(i) Arrhenius equation.

(i) Experimental determination of activation energy from Arrhenius equation. 2+3
What is radial distribution function? Draw this function for the Is, 2s and 2p orbitals in a hydrogen
atom
Classify the following ions as aromatic or antiaromatic with explanation,

@ @ and (i) Dfa
©
Derive Kirchhoff’s equation showing the variation of heat of reaction with temperature
4+(1%+1Y2)+3

Using LCAO principle, draw the molecular orbj
. ) itals of 1, 3- i ioni
LUMO in the ground state, along with electronic arrangemen]futadlene mentioning HOMO and

The rate constant of a first order reaction i =3 mi
caction is 3.5x10-3 mip-1. Calculate the 7),. How does the 1y

of the reaction change if the initia] concentration of the reactant be doubled?

Write the Schrédinger equation fo
d_> atomic orbital.

2 atomic orbital (2+1+1)+3+(1+1+1)
Establish t i i

stablish the relationship between Cp and Cy thermodynamica]]y for 1 mole of an ideal gas.

Calculate the electronegativity of fluorine atom from the following data using Pauling’s scale.

Ey_y = 104.4 keal mol-!
Er_p = 36.6 kcal mo]-!
Ey_p = 134.6 kcal mo]-!
Xy=2.1.
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(©)

(a)

(b)

()

(a)

(b)

(c)
(a)

(®)

(c)

(7) (2(15t Sm.)-Chemistry-H/MN-1/CCF)

Compare the dipole moments of the following molecules with explanation :

(i) CH;CI and CH,F. 4+3+[(Var 1)+t )]

State and explain the Heisenberg Uncertainty Principle. Calculate the uncertainty in the speed of the
electron confined in a space of linear dimension of 10 A. [Given : mass of an electron = 9.109x1073! kg]
Draw any one Fischer projection formula of 3-chlorobutan-2-ol and convert it to its Newman and

sawhorse projection formula.
One mole of an ideal gas expands from 10 litre to 100 litre at 27°C isothermally and reversibly.
(2+2)+(1+1+1)+3

Calculate q, w and AU for the process.

nductive effect? Compare the acidity of acetic acid, formic acid,

What do you mean by i
light of inductive effect with explanation.

chloroacetic acid and dichloroacetic acid in the

Consider the following reversible reaction, first order in both the directions.

k k
A—L=B; where =2
ky, Kp
Plot curves that give the concentration

tivity and electron affinity.

of A and B as functions of time.
Differentiate between electronega (143)+3+3

Using the Steady state approximation, determine the rate law for the production of P.

k
A+B=—=C—2>P,
k
2
k,, k; are rate constants.
and second ionization energy between potassium and

where C is the intermediate and k|,
Define ionization energy. Compare the first

copper.
Define enantiomer and diastereoisomer with one example for each. 4+3+(1%4+1Y%)

JE———-—
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bl (F) @ES IET @ 78 | (418 @, (P IETF WA AN @I T ifoole 0t 9 Ao AT |
(¥) 93 I G (593 7 =cos @t i +sin 0f , R @ 93 &5 @A0e &
(@) I MR ¥, 7 -93 AL 79|
@) 7Fxv @I FIF (371 (:+9)+(8+9)
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[ English Version ]
The figures in the margin indicate full marks.

1. Answer any five questions : 3x5
(a) What do you mean by fundamental and derived units? Name the fundamental units in SI system.

(b) Prove that 4x(BxC)+Bx(CxA)+Cx(AxB)=0.
(c) For what values of a, the vector 4=of-2j+%and B =2ai + of -4k be mutually perpendicular?

(d) Solve the equation : %=x2y3_

(e) State Kepler’s law of planetary motion.
(f) Define streamline and turbulent flow of liquid.
(g) What do you mean by conservative force field?

(h) Explain elastic collision and inelastic collision.

Answer any five questions, taking at least one question from each Group.

Group - A

2. {(a) In the equation x =a+ b + c2, x is in (m) and ¢ in (sec). Obtain unit and dimension of 5 and c.

2—
(b) Find: rs X 16
x4 x—4

.

2f_92f

oy opon

(d) Find the values of x for which the function £ (x) = 2x3 — 15x2 + 36x is maximum and minimum,
(2+2)+2+3+3

(©) f(x,y)=x%siny+y2cosx. Verify

Please Turn Over
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3.

(@)

®
(c)

(d)

(a)

(b)

(c)

(a)
(b)

(©)

(2)
(b)

(©)

-~ s a =~ * .77 Find out the
Two adjacent sides of a triangle are represented by 4 = (3i +4j ) and B = (—51 +7j ) Fin
area of the triangle.

What do you mean by gradient of a scalar field?

Prove that §," = ;727 | where 7 = xf 4 yj +zk.

Prove that F =(3y4zzf +4x222}'—3x2y21€) is a solenoidal vector.

334383

I : d’x =0, whe
The differential equation for a simple harmonic motion is given by m—+ ’

. the
. n '
k and m are constants. Obtain the equation of displacement (x) in terms of time ¢ by solving »
above equation.

I . . sverse
A particle is moving along a curve in a Plane. Derive expression for the radial and tran
(or, cross-radial) component of velocity

<an of
- - otion ©
(%) and acceleration (@). Prove that for the m
a particle in a plane :

V= (r‘ F+réé) and g =(F—r(§2)i’+(r§+2r‘9)é
[Every symbols have their usyal meaning.] cal
. . . d spheri¢
Write down the transformation equations connecting Cartesian coordinates (x, y, z) an 44612
polar coordinates (r, 6, ¢).

Group - B
e
Define angular velocity and angular momentum for a point particle. Find out the relation betw
them
What do you mean b

Y torque? Establish the rincipl . omentum in %
of point particle. Principle of conservation of angular mom (

A particle of mass m = | kg moves along a straj

to application of force = (2,’ +3f+ ,g)

ght line from point 4(-2, 1, 4) to point B(4,3,~ 313
+
N. Caleulate the work dope. @+2¢



(a)
®

©
@

(a)

®

(a)
(®)
(©)

(5) (z(15t Sim.)-Physics-MDCICC-1/CCF)

State Newton’s law of gravitation. Find the dimension of universal gravitational constant.

If the distance of Earth from the Sun be suddenly reduced to half of its present distance, calculate
the number of days in a year.

State Gauss’s law of gravitation.
Prove Kepler’s 3rd law for circular orbit. (2+1)+4+2+43

Define central force. Show that for a body moving under the influence of central force, the motion
is always confined in a plane.
The position vector of a particle is given by 7 = cos ot { +sin af 7, where © is constant. Show
that,

(i) the velocity y of the particle is perpendicular to 7.

(i) Fxv is a constant vector. (2+3)+(4+3)

What do you mean by coefficient of viscosity?

State and explain Bernoulli’s theorem.

State the Stokes’ law in connection to the motion of a body through a viscous liquid. Derive it from
the concept of dimensional analysis. 3+3+(2+4)
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For all Four & Three Year B.A./B.Sc./B.Com./B.Mus. And
Four Year B.A./B.Sc./B.Com. Vocational Candidates.

Answer the following multiple choice questions. 2x25

. Rama Rao was the Malgudi agent of which company?

(A) Gramophone (B) Telephone
(C) Saxophone (D) Phone.

. What was the name of the journal Rama Rao came across in the Jubliee Reading Room?

(A) The Hero (B) The Captain
(C) Thunder (D) The Galaxy.

. Munshi Premchand is the author of which of the following short stories?
(A) The Child (B) Out of Business
(C) The Last Leaf (D) The Boss Came to Dinner.

. Rama Rao was waiting for the train to come from which place?

(A) Bangalore (B) Madras
(C) Trichinopoly (D) Hampi.

. Where did the financer of the company live?

(A) Kolkata (B) Bombay
(C) Madras (D) Delhi.
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15. Who wrote the poem ‘Break, Break, Break’?
(A) Lord Tennyson (B) Matthew Arnold
(C) William Wordsworth (D) John Keats.
16. The dream of liberty and equality for the negro is deeply rooted in the dream.
Fill in the blank from the following options :
(A) American (B) Indian
(C) European (D) Chinese.
17. What is the meaning of the word ‘Emancipation’?
(A) cruelty (B) shine
(C) novelty (D) freedom.
18. Who wrote ‘I have a Dream’?
(A) Abraham Lincoln (B) Ruskin Bond
(C) O.Henry (D) Martin Luther King Jr.
19. Who signed the Emancipation Proclamation?
(A) Martin Luther King Jr. (B) John Adams
(C) Abraham Lincoln (D) George Washington.

20. Identify the creature from the poem ‘Afterwards’ : “A small animal with stiff spines covering its
back-out mostly during hight”.

(A) Wild cat (B) Tiger

(C) Hedgehog (D) Hawk.
21. What is the meaning of the word tremulous?

(A) nervous (B) jubilant

(C) happy (D) sad.

22. What does the speaker of the poem ‘Afterwards’ reflect on?
(B) His birthday

(D) His success.

(A) His marriage
(C) His death

23. Who wrote the poem «Afterwards’?
(B) William Shakespeare

(A) John Keats .
(D) Robert Browning.

(C) Thomas Hardy
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24. Where the clear stream of reason has not lost its way / Into the dreary desert sand of dead

25.

Fill in the blank from the following options :
(A) habit (B) inhibit
(C) land (D) sway.

Rabindranath Tagore does not want the clear stream of reason to lose its
Fill in the blank from the following options :

(A) way (B) say
(C) bay (D) nay. (.
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[ English Version ]

The figures in the margin indicate full marks.

1. Answer all questions. Write the correct option :

(a)

(b)

(©

(d)

(e)

&y

Environment comprises of

(1) Biotic component (i) Abiotic component
(i) Both (i) and (ii) (iv) None of these.
Grasshopper is an example of

(i) Producer (i) Primary consumer
(iii) Secondary consumer (iv) Tertiary consumer.

Which gas is responsible for global warming?

) O, (i) SO,
(iii) CO, (iv) CO.
The nutrient enrichment of a waterbody is known as

(i) Mesotrophication (i) Oligotrophication
(i) Eutrophication (iv) Self-purification.

Ozone gas can be found in

(i) Troposphere (i) Stratosphere

(i) Mesosphere (iv) Exosphere.

Organism living at the bottom sediment of an aquatic ecosystem is known as
(i) Plankton (i) Necton

(iii) Benthos (iv) Periphyton.

Which of the following causes of soil erosion?
(i) Nudation (i) Afforestation

(i) Reforestation (iv) Deforestation.

110
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(h) Which of the following reserve forest is famous for conservation of one-horned rhinoceros?

(i) Jaldapara (i) Sajnekhali
(i) Ballavpur (iv) Parmadan.
(i) Secondary air pollutant is
(i) Carbon dioxide (i) Sulphur dioxide
(i) Nitrogen oxides (iv) Ozone.

() The most poisonous groundwater pollutant in West Bengal is

(i) Zinc (ii) Arsenic
(i) Cadmium (iv) Nickel.
2. Answer any ten questions : 2x10
(a) Mention any two goals of Sustainable Development.
(b) Distinguish between food chain and food web.
(c) Differentiate between natality and mortality.
(d) What is Mission LIFE?
(e) Differentiate between afforestation and deforestation.
(f) What is natural resource accounting?
(g) What is ex-situ conservation? Give example.
(h) Differentiate between endangered and extinct species.
(i) What do you mean by bioprospecting?
(j) Mention two major sources of marine pollution.
(k) Mention two harmful effects of ozone layer depletion.
(I) Why segregation at source is necessary for solid waste management?
3. Answer any four questions :
(a) What are the principles of sustainable development? 5
(b) Explain the Y-shaped energy flow model in an ecosystem. What do you mean by ecological
succession? 3+2
(c) Discuss briefly the potentiality of biomass as alternative energy source. Write a short note on
desertification. What is OTEC? 2+2+1
(d) Mention three major reasons for the loss of biodiversity. Why is Western Ghats called biodiversity
hotspot? 3+2
(e) Mention the sources of ground water pollution. How does pesticide pollute soil? 2Vat2Y%
(f) What are greenhouse gases? How do they contribute to global warming? Mention two harmful

effects of global warming. 1+2+2
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The figures in the margin indicate full marks.

Module - 1

1. Answer any one question (within 400 words) :

(a) Define Fundamental Rights. How many Fundamental Rights are in the Indian Constitution and what
are those? Discuss the Right to freedom. 5+5+15

(b) Explain the meaning and significance of the two words ‘Sovereignty’ and ‘Secularism’ as mentioned
in the Preamble to the Constitution of India. 10+15
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Module - 2

2. Answer any one question (within 400 words) :

(a) How many Fundamental Duties are in the Indian Constitution and what are those? Determine their
significance. 10+15

(b) Analyze the legal significance of Fundamental Duties of the Indian Constitution. 25



